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Radar Type 6 - Radar Statistical Performance

Trail # 1=Detection Trail # 1=Detection
0=No Detection 0=No Detection
0 1 15 1
1 1 16 1
2 1 17 1
3 1 18 1
4 1 19 1
5 1 20 1
6 1 21 1
7 1 22 1
8 1 23 1
9 1 24 1
10 1 25 1
11 1 26 1
12 1 27 1
13 1 28 1
14 1 29 1
Detection Percentage (%) 100%
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Type 6 Radar
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Type 6 Radar
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Type 6 Radar Waveform_10
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Type 6 Radar Waveform_29
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Product AX1500 Wi-Fi 6 Range Extender Temperature 27°C

Test Engineer Kevin Ker Relative Humidity 65%

Test Site SR2 Test Date 2021/05/08
Test Iltem Radar Statistical Performance Check (802.11ax-HE20 mode — 5500MHz) - Mode 3

Radar Type 1-4 - Radar Statistical Performance

Trial Frequency 1 detect ,0 no detect
(MHz) Radar Type 1 Radar Type 2 Radar Type 3 Radar Type 4
0 5490.4 1 0 1 1
1 5490.8 1 1 1 1
2 5494.2 1 0 1 1
3 5491.7 1 1 1 1
4 5492.1 1 1 1 0
5 5491.2 1 1 1 1
6 5492.9 1 1 1 1
7 5498.8 1 1 1 1
8 5493.8 1 0 1 1
9 5504.9 1 0 1 1
10 5494.8 1 0 1 1
11 5492.5 1 1 1 1
12 5496.2 1 0 1 1
13 5496.8 1 1 1 1
14 5497.5 1 1 1 1
15 5498.1 1 0 1 0
16 5501.6 1 1 1 1
17 5499.5 1 1 1 0
18 5500.1 1 1 0 1
19 5500.8 1 1 1 1
20 5493.3 1 0 1 1
21 5502.4 1 1 0 1
22 5503.3 1 1 1 1
23 5504.1 1 1 1 1
24 5506.6 1 1 1 0
25 5505.8 1 0 1 1
26 5495.5 1 1 1 1
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Trial Frequency 1 detect ,0 no Trial Frequency 1 detect ,0 no
detect detect
27 5507.4 1 1 0 1
28 5508.3 1 1 1 1
29 5509.6 1 1 1 1
Probability: 100.0% 70.0% 90.0% 86.7%
Aggregate (Radar Types 1-4): 86.7% (>80%)
Radar Type 1 - Radar Waveform
Trial Id ¥;::r iﬁ:ﬁ PRI (us) | poyper of :::;f;"
'l:I.S:' ('III.SJ
Towrload o Type 1 1.0 515.0 B5 53170.0
Townload 1 Type 1 1.0 g95.0 59 52982, 0
Townload 2 Type 1 1.0 B95.0 TE 53043. 0
Townload 3 Type 1 1.0 Ta95.0 BT 534860
Townload 4 Type 1 1.0 535.0 99 S3Z6Z.0
Townload & Type 1 1.0 g55.0 B2 53196.0
Townload B Type 1 1.0 §35.0 B3 52794.0
Townload i Type 1 1.0 B35.0 83 52954.0
Townload 5 Type 1 1.0 595.0 g9 53222.0
Townload 9 Type 1 1.0 Ti5.0 T4 53132.0
Townload 10 Type 1 1.0 575.0 B1 53553. 0
Townload 11 Type 1 1.0 E55.0 95 53010.0
Townload 12 Type 1 1.0 T75.0 B 529040
Townload 13 Type 1 1.0 Big.0 86 53143.0
Townload 14 Type 1 1.0 BTE.0 TS 5584.0
Townload 15 Type 1 1.0 gaz.0 B0 52820.0
Townload 16 Type 1 1.0 2847, 0 19 54093.0
Townload 17 Type 1 1.0 BTE.0 T 53404. 0
Townload 15 Type 1 1.0 B49.0 g2 53213.0
Townload 149 Type 1 1.0 2208. 0 24 529920
Townload 20 Type 1 1.0 T76.0 B 53544.0
Townload 21 Type 1 1.0 SR21.0 21 550410
Townload e Type 1 1.0 15358.0 29 53302.0
Townload 23 Type 1 1.0 Ta0.o BT 52530.0
Townload 24 Type 1 1.0 1533.0 40 53320.0
Townload e Type 1 1.0 Ea3.0 81 53053. 0
Townload s Type 1 1.0 2089, 0 26 53794.0
Townload 27 Type 1 1.0 1004. 0 53 53212.0
Townload s Type 1 1.0 2369, 0 23 54487.0
Townload 24 Type 1 1.0 2169.0 25 542250
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Radar Type 2 - Radar Waveform

- Radar P1_115e Hamber of LI
Trial Id Type 'H'(l 11:1..]1 FRT (us) Pulses I(.enjgth
us us
Downl oad ] Type 2 2.1 159.0 24 3516.0
Download 1 Type 2 1.3 201.0 23 4623.0
Download 2 Type 2 2B 155.0 25 3350.0
Download 3 Type 2 31 164.0 26 4264. 0
Download 4 Type 2 3z 221.0 26 ST46.0
Download 5 Type 2 2.8 167.0 26 4342.0
Download 5] Type 2 4.5 156.0 29 4524. 0
Download T Type 2 4.9 196.0 29 S654.0
Download g Type 2 4.4 189.0 Pt 5292.0
Download g Type 2 1.3 210.0 23 4830.0
Download 10 Type 2 1.2 215.0 23 4345.0
Download 11 Type 2 4. B 200.0 29 5800.0
Download 12 Type 2 3.5 174.0 27 4695. 0
Download 13 Type 2 4.3 161.0 28 45038. 0
Download 14 Type 2 27 20z.0 26 5252.0
Download 15 Type 2 2.9 181.0 26 4T06. 0
Download 16 Type 2 34 205.0 27 5535.0
Download 17 Type 2 2.1 190.0 24 4560. 0
Download 15 Type 2 31 213.0 26 5538.0
Download 19 Type 2 3.3 207.0 27 5589.0
Download 20 Type 2 1.8 220.0 24 5280.0
Download 21 Type 2 1.4 183.0 23 4209.0
Download 22 Type 2 2z 163.0 25 4075.0
Download 23 Type 2 4.3 175.0 28 4954. 0
Download 24 Type 2 3.3 157.0 27 4239.0
Download 25 Type 2 1.8 160.0 24 3840.0
Download 26 Type 2 1.1 217.0 23 4391. 0
Download 27 Type 2 2.3 211.0 25 5275.0
Download 28 Type 2 1.2 Z215.0 23 S014.0
Download 29 Type 2 3.5 154.0 27 4158.0
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Radar Type 3 - Radar Waveform

. Eadar il =c Homber of LI T
Trial Id Type Eld;h PRI (usx) Pulzes %::%th
us
Download ] Type 3 T.1 480.0 16 TaB0.0
Download 1 Type 3 B.3 232.0 16 IT1Z.0
Download 2 Type 3 T.6 436.0 1T T41Z.0
Download 3 Type 3 g.1 Z00.0 1T 34000
Download 4 Type 3 gz 392.0 1T BEGL. O
Download 5 Type 3 T.5 451.0 1T g17T. 0
Download B Type 3 9.8 449.0 15 g052. 0
Download T Type 3 9.9 z11.0 15 37980
Download 8 Type 3 9.4 271.0 15 43T8.0
Download a Type 3 B.3 3558.0 16 ST28.0
Download 10 Type 3 B .2 473.0 16 TBE. 0
Download 11 Type 3 9.6 443.0 15 TaT4. 0
Download 12 Type 3 4.5 309.0 1T 5253.0
Download 13 Type 3 9.3 433.0 15 g87T4.0
Download 14 Type 3 7T 403.0 1T BE36. 0
Download 15 Type 3 T.9 393.0 1T BTEE. O
Dowrnl oad 16 Type 3 g4 432.0 1T Tid4d. 0
Download 17 Type 3 T.1 2420 16 38720
Downlaoad 15 Type 3 g.1 253.0 1T 4301.0
Download 19 Type 3 8.3 421.0 1T Ti15T.0
Download 20 Type 3 BB 401.0 16 B416.0
Download 21 Type 3 B 4 455.0 16 TIZ5.0
Download oz Type 3 T.2 500.0 16 g000. 0
Download 23 Type 3 9.3 307.0 15 5526.0
Download 24 Type 3 8.3 3220 1T 5474.0
Download 25 Type 3 B.5 424.0 16 BTEE. 0
Download 2B Type 3 B. 1 209.0 16 3344.0
Downlaoad 2T Type 3 T.3 442,10 16 TOTE. 0
Download 25 Type 3 B .2 236.0 16 4086, 0
Download 29 Type 3 4.5 236.0 17T S032.0
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Radar Type 4 - Radar Waveform

. Radar fitdl = Homber of LG AR 0F )
Trial Id Type 'iél.d;.h FRT (us) Pul=zes I(.:;l%th
us
Download 1] Tyvpe 4 13. 4 480.0 13 5950. 0
Download 1 Tyvpe 4 11.6 23z2.0 1z 2754.0
Download 2 Tyvpe 4 14. 6 436.0 14 B104.0
Download 3 Tyvpe 4 15. 7 200.0 14 Z800. 0
Download 4 Type 4 15.3 392.0 14 S455. 0
Download 5 Tyvpe 4 15.0 451.0 14 BT34. 0
Download ] Type 4 19. 6 449.0 16 Tig4.0
Download T Tyvpe 4 19.7 z11.0 16 33TE.0
Download ] Type 4 15. 6 271.0 16 43560
Download 9 Tyvpe 4 11.5 355.0 12 47960
Download 10 Type 4 11.5 479.0 12 ST45.0
Download 11 Tyvpe 4 19.1 443.0 16 TOSE. 0
Download 12 Type 4 16.5 309.0 15 48350
Download 13 Tyvpe 4 15. 4 493.0 16 TEGEE. 0
Download 14 Type 4 14.9 403.0 14 ST1Z.0
Download 15 Tyvpe 4 15. 3 393.0 14 95TE.0
Download 16 Type 4 16. 4 432.0 14 BO43. 0
Download 17T Tyvpe 4 15. 4 2z.0 13 3146.0
Download 13 Type 4 15. 6 253.0 14 35420
Download 19 Tyvpe 4 16. 3 4z21.0 14 ag94.0
Download 20 Type 4 12.5 401.0 12 4812.0
Download 21 Tyvpe 4 12.0 455.0 12 2496, 0
Download 2z Type 4 13. 8 500.0 13 G500, 0
Download 23 Tyvpe 4 15. 3 307.0 16 4912.0
Downlaad 24 Type 4 16. 3 J22.0 14 4503, 0
Download 25 Tyvpe 4 12.9 424.0 13 5512.0
Downlaad 2B Type 4 11.3 209.0 12 5030
Download 27 Tyvpe 4 15.9 44z2.0 13 ST46.0
Downlaad 25 Type 4 11.5 256.0 12 30TE. 0
Download 2q Tyvpe 4 16. 5 296.0 15 4440.0
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Radar Type 5 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
0 5500.0 1 15 5496.0 1
1 5500.0 1 16 5496.4 1
2 5500.0 1 17 5494.8 1
3 5500.0 1 18 5496.0 1
4 5500.0 1 19 5496.4 1
5 5500.0 1 20 5505.6 1
6 5500.0 1 21 5506.0 0
7 5500.0 1 22 5504.8 1
8 5500.0 1 23 5502.4 1
9 5500.0 1 24 5503.6 0
10 5493.6 1 25 5505.6 0
11 5498.0 1 26 5506.4 1
12 5496.4 1 27 5504.8 1
13 5497.6 1 28 5506.4 1
14 5495.6 1 29 5503.6 1
Detection Percentage (%) 90.0%

Type 5 Radar Waveform_0

Bur=st Polse l:]_1irp Humber of

Offset Width (us) Hidth Fulsex per [FETI-1 (ux) |[FRT-Z (us) |[FRT-3 (ux)
(a=s) (MH=z) Barst

55T7479. 0 B3 4 =] 1 18382.0 - -
S21853.0 53T =] 1 15316.0 - -
1084785, 0 Ta. 2 =] 2 180z, 0 1224.0 -
Z2B0546. 0 TB. 3 9 2 1524.0 1509.0 -
S524TES. 0 TT. 3 =] 2 1075.0 1175.0 -
TSTEES. 0 T2, 3 =] 2 1561.0 16T5.0 -
1050325 0 aT. 4 9 5] 1295.0 1551.0 1975.0
227743, 0 95, 3 =] 3 1065.0 1514.0 1604. 0
491193. 0 91.9 =] 3 1934.0 1064. 0 1573.0
TSES33. 0 54.5 =] 1 1453, 0 - -
1020746, 0 3.2 =] 1 1789.0 - -
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Type 5 Radar Waveform_1

Bur=st Pulse Chirp Haomber of
Off=et ¥idth (as) ¥idth Pul=ses per |PEI-1 (u=s) |FRI-Z2 (u=) [FRI-3 (u=)
(us) (MHz) Burst
268904, 0 95.0 B 3 1565, 0 1423.0 1027. 0
B32411.0 a0, T B 2 1202, 10 11960 -
994391, 0 91.1 G 3 1403. 0 1514. 0 15340.0
15358773, 0 T1.5 G 2 1010, 0 1464. 0 -
224415.0 T4.0 G 2 1349.0 1333.0 -
SETZ24.0 T9.9 B z2 1593. 0 1946, 0 -
951TET. 0 B3.5 B 1 1013.0 - -
1314341.0 T5. 8 B 2 1006, 0 1121.0 -
Type 5 Radar Waveform_2
Buar=+t Pulse Chirp Huoumber of
DfFf=et Width 2 Waidth Ful=zex per (FRT—1 (u=s) |[FRI—2 (uos) |[FRI—3 C(a=s)
(a=) * = (MH=z) Buor=+t
110415. 0 T3. 3 11 b= 1803, 0 1344. 0 -
334Z2TE. 0 55,4 11 1 10160 - -
S5T331.0 S50 11 1 1989. 0 - -
TS1325. 0 BS. T 11 1 1285. 0 - -
SZS16. 0 a0, 5 11 3 15354, 0 1033, 0 1z233.0
I0s0z22. 0 T, 2 11 = 144=. 0 1Ti0. 0 -
530152, 0 [=Tn =] 11 1 1379. 0 - -
TS3ISR0. 0 52.0 11 1 1TEE. O - -
55533, 0 B&. 0O 11 1 1427.0 - -
279179, 0 52.8 11 1 1042, 0 - -
S0144=. 0 g0, 5 11 = 1554. 0 1951. 0 -
TZ347T2.0 g95. T 11 3 13140 18460 1525. 0
27930, 0 91.0 11 3 1275. 0 1325. 0 1106, 0
Type 5 Radar Waveform_3
Bor=+t Pul=e Chirp Homber of
Dffzet Width O 3 Width Fulzexs per |[FET—1 (uo=s) |[FRI—Z (ox) |[FET—3F (u=s)
(ax) * i (MH=) Buor=t
232491 .0 [= =] 13 3 15635, 0 153T.0 1551. 0
441052, 0 L= W 13 1 1467. 0 — —
B45TS5S. 0 S5.0 13 1 1197.0 — —
4330 B2, T 13 1 1=245. 0 — —
207127T.0 S6.0 13 ] 1352. 0 1501. 0 1T16. 0
4147510 53.0 13 = 1235.0 1590, 0 —
BZ10135. 0 S6.T 135 S5 10735, 0 1556. 0 1591. 0
SI00ST. O BS. 5 13 1 1940, 0 - -
151532, 0 Qz. 5 13 b 116&. 0 1007. 0 1945, 0
FS9155. 0 T4, T 13 = 1355, 0 1509, 0 -
595125, 0 99, 4 13 5 1555. 0 14=22. 0 1797.0
S04551. 0 B5S. =2 13 1 1507. 0 — —
156616. 0 T2, 1 13 = 10=0. 0 16320 —
SE332T.0 g6, 9 13 ] 16220 11s0.0 10990
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Type 5 Radar Waveform_4
Bor=+t Fal Chirp Homber of
Off=at '_df: (=) |Hidth Fuol=ze=s per |FRTI—1 (us) |[FEI—2 (a=s) |[PET—3 f(a=)
(a=1 * — (MH=] Baor=t
SEZ1TST. O S5, 9 15 = 1491. 0 14550 1535, 0
TZE1TZ. 0 T, = 13 =z 1416. 0 13E7.0 -
1zzeE1.0 BT. S 15 = 1594, 0 1041. 0 -
SZ1SR0&. O BE. O 15 = 100, 0O 1S4z 0 -
S09TTI. 0 B3. 0 13 1 1520, 0 - -
TO117S. 0 S35 15 b 1isSa. 0 16160 15190
QEETZ. O BZ. & 15 1 1zai. 0 - -
zZg1129. 0 ag. & 13 = 1743, 0 17E0. 0O 1055, 0
454099, 0 S0, 4 15 b iSan. 0 1109, 0 15T4. 0
BTITO4. O ST. 4 15 1 1413 0 - -
TASEO. O aa. 1 13 = 1425 0 10zs. 0 1519, 0
ZRTIRS. O TO. & 15 = izas. 0 1BS5. 0 -
ABOZT4. 0 aTt. 1 15 b 1596, 0 1552, 0 1432, 0
BESSEIE. O BE. X 13 1 16T1.0 - -
SOS1S. 0 TO. = 15 = 19e7T. 0 1441. 0 -

Type 5 Radar Waveform_5
Buor=st FPal Chirp Huomber of
Off=et '.dfﬁ (as) |Hidth Ful=e= per [FRI—1 (u=) [PRI—2 (u=s) |[PERI—3 C(uas)
(ax] * — (MHx] Bur=st
ZE1TZ0. 0 =14 1z 2 1999. 0 13930 -
S044935. 0 95, 4 1= pc] 147TT.0 1048, 0 13TE. 0
TZE8Q6T. O 514 1z 1 1949 0 — -
SF1281.0 [=1-Ta 1= 1 13590 - -
ZE4B52. 0 B2 = 1z 1 15100 — -
A4TEZ17.0 SE. B 1z 1 1821.0 - -
TOos99. 0 S04 1= = 19710 1094 .0 -
3TZ0.0 83.0 1z 2 1473 0 1316.0 -
Z22T329.0 S5 T 1= 1 11250 - -
445551, 0 85,0 1z e 13200 1545. 0 1992 0
BTZ015. 0 gB. 9 1z 3 19568. 0 1331.0 1zs0. 0
S98T30. 0O TG. S 1= = 1357.0 1150.0 -
199744 0O B0 3 1z 1 1322 0 — -

Type 5 Radar Waveform_6
BFoar =1t Pl = e I'_'ljn.irp Homb exr - =
l%iﬁset Wa At Caa=D };i‘[;?‘ gﬁz:s e PRI —1 o= rRI 2> D= FREYT 3 [ = |
27345 0 [=1 = = =i m} 149=. 0 i1147T. 0 196=. 0
21TSS=. 0 sS3. T =0 = 13510 1401 . 0O 17T7v=. 0
SaS017T. 0 [=1 = =1 =0 1 1851, 0 - —
11174=. 0 L=1m B =i m} 1 1559, O — —
SZEEISTE. O [ST= =0 = 1575 0 1309 O —
A01=5=7T. 0 S=. 3= =0 = 105=. 0O 1a=0. 0 —
Sasz2asg. 0O = =i m} = 1S3=. 0 1544, O —
Q3Ee0=. 0 TE. =2 =0 = 1958, O 1&=Z7T. 0 —
=3Tas5T. 0 Q5. = =0 = 1054, O 15T, 0O 1409, 0O
TgzZaeSs4. 0O SS.9 =i m} =3 1Ss5so. 0O 1=Z04. O 1177T. 0
sZssss. 0 E7T. 4 =0 = 10635 0O 1519 0O —
TEOO9Q. O E4. 5 =0 1 18S87T. 0O — —
EZOsaS. 0 TS, S =0 = 1=z==. 0 1740, O —
SEa4S397T. O 915 =i m} =3 19=2Z1. 0 1=z0s. O 1555, O
S115=4_ 0 [ m =] =0 1 1495 0O — —
SSZ0og9. 0 S0, 8 =0 1 1155, 0 - —
203001 . 0 T T =i m} = 1=2=1. 0 1=2=9. 0 —
Z4STT=E. 0 =56 =2 =0 1 1005 O — —
Ag918TE. O S5.9 =0 = 110=. 0O 1S7T=. 0 1z07T. 0
A0=2Z354. 0 TO. 3 =i m} = 1155. 0 1zZa0. 0O —

FCC ID: 2AXJ4RE500X Page Number: 214 of 291



Wi
m IA Report No.: 2102TWO0007-U3

Type 5 Radar Waveform_7

BFor =it Pl = e I'_'ljn.irp Hoamb exr CF =
IZE‘ii:?et e At Co=2) I(’;:;;l gﬁ;ig per (PRET—1 = PRET— (oax] PRET— 3 Coax]
1846551 . 0 as. = =0 = 12360 1507. 0O 1=Z40. 0
SS0O4g94. 0O &1._0 =0 1 17T0O=. 0 — —
4T4Sa8 . O Ta. =S =0 = 1=z5a. 0 1529 0 —
=Z=ZS9. 0 SS. 0 =0 = 1=Z7T7T.0 1282 0 1gsoa. 0
157507, O S9.n0 =0 1 13=371.0 — —
S1====.0 [=3= =1 =0 1 15315. 0 — —
A4S4555S. O Q0. 3 =0 =3 1Sse9. 0 1900, O 1957 0
4535 0O 555 =0 1 1E7TE. O — —
145953=. O a5, 9 =0 =3 1440z 0 1655, 0 1354 0
Z294T7TET. 0 a1 =0 1 17T=Z=_ 0 — —
AZa==1 .0 TS. 9 =0 = 11=4. 0 1=, 0 —
L=T=1o 1= hr i m | [ = S - =0 1 1755 0O — —
1317TS0. 0 S5, 9 =0 1 1841 . 0 — —
Z2Te939. 0O S22 3 =0 1 1SS0, 0 — —
AZ=Z=Z1=.0 [=3= =0 1 1=Z=0. 0 — —
SET491 . 0 S50 T =0 1 12740 — —
113s7Ta. 0 S0, T =0 1 18260 — —
Z257Te2T. 0 ST, B =0 =3 1S29. 0 111=2. 0 19310
40=44=0. 0O a5l 35 =0 1 1=Z=_ 0 — —
Sa4g4Ta. O (=1 S =1 =0 1 1411. 0 — —
Type 5 Radar Waveform_8
Bor=it Fal = [:l_lirp Homber of
NDEff=et Width Cos) Wideth Fuolzsexs per |[PRT—1 oaxs ) FPRT—ZF (o= FRT—3 (oax)
Coa=s) (MH=) Boar st
10217TE. O 91. = 1= = i=3a7T. 0O 1S4=. 0O 18Z=. 0
ZEESET. O 9=, 1 1= = 10z7. 0 1494, O i917T. 0
AZSETS. 0O =303 13 = 1=41. 0 1276, 0 —
Sg9Os490. O s9.5 15 1 15750 - —
SE4S5. 0 940 15 = 1964 0O 1599 0 105s. 0
=Z45551. 0 =91. 4 15 = 1S0O=. 0 1905, O 1TS9. O
A4O0TTES. O S5. 9 15 = 1555, 0 1554, O 1415. 0
STOS4AG. O 5449 15 1 1505, O - -
BEGBS545. 0 59. 5 15 = 194=. 0O 1195, 0 -
=ZETTES. 0 S=. 4 15 = 154=. 0O 15=5. 0 -
SSTeSOo. 0 sS40 15 = 1537 O 1=z9<4t. 0O 1T45. 0O
SSO37TIS. 0 S1.5 15 = 1071, 0 115=. 0 —
4T1z=1. 0 1.0 1= 1 iTiT. O — —
ZOZS=968. 0 SE. 5 1= 1 i1ToT. O — —
=ZE9S11. 0 (=1 1= 1 199=. 0 — —
SO0, 0 TS, S 1= = 1i01=. 0O 1=0=. 0 —
=2T=T=.0 54 3= 1= 1 1==7T. 0 — —
1SZ0ss. 0O (== =) 1= = 14==. 0 17T3E. O —
Type 5 Radar Waveform_9
Bur=st Pal Chirp Humber of
Offset by Width Fulses per ([PRI-1 (as) ([PRI-2 (us) |[PRI-3 (us)
¥idth (u=)
(us) (MHz) Burst
BIIB0E. 0 d1.5 B 3 10a1.0 13000 1023.0
1023863, 0 55.5 B 1 119z 0 - -
147730 g9z 1 B 3 1025.0 19z0.0 13130
J3TATI. 0 B9, 5 B z2 1T31.0 1516.0 -
BEOO1G. O TG, 3 B z2 1470.0 1866 0O -
951TEL. 0 g9.0 B 3 1350.0 1271.0 1B65. 0
1307T172.0 SE. 9 B 1 11720 - -
2980800 51.2 B 1 1270.0 - -
BZ0940. 0 5T.8 B 1 17150 - -
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Type 5 Radar Waveform_10

Burst Pulse Chirp Homber of
Dff=et - ¥idth Puolses per |PRT-1 (u=) (FRI-Z (us) |[FRI-3 (us)
¥idth (a=)

(ns) (MHz) Bur=t
1061614.0 TG0 3] 2 1247.0 106T.0 -
14741800 gz 3] 2 1353.0 1635.0 -
Za06Z24. 0 551 & 1 1153.0 - -
BS2465. 0 99.9 3] 3 1925.0 1461.0 1609. 0
10157250 ar.z2 3] 3 1045. 0 1435.0 1522. 0
137392600 a4. 9 3] 3 1078. 0 10i1.0 1144.0
2454710 T1.1 3] 2 1454.0 1991.0 -
BOSSE3. 0 Ta.0 & Z 1523.0 1801.0 -

Type 5 Radar Waveform_11
Bor =+ Pl Chir=p Hombar o
DEff=at 'idf]‘: Ca=7 |Hideh FPulses per (FET—1 (o=) |[PRT—ZF (oax) |([FRT—3F (o]
o= (A= Bor =+t
407419, 0O a7 . = 19 = 1455 0O 1z1=. 0O 1z2=9. 0
SEOS3E. O TT. S =] = 1S9s. O 11=1. 0 —
Sa401. 0 B, S 19 = 1141. 0 1ES4. O —
ZSa0S1 . 0O a4, 1 =] = 1SS=. 0 1S5=1. 0 1=z05s. 0
SS9s04. O BET. & =] = 1z0=. 0 1154, 0O —
S417TaE. O TS. 9 =] = 1547, 0O 1S1=. 0 —
ESS545. 0 TS. 4 19 = 1456, O 1546, O —
Z17S21. 0 S5, 0 19 = 1395, 0 1595, O 1=27=.0
ST11S5=S. O 515 19 1 1749, O — —
SEEE05. O TS, 1 19 = 1866, O 1541 . 0 —
45ES1 . 0O aT. = =] = 144=. 0O 1404, O 110, 0O
199TTE. O S5, 1 =] 1 1=2=s. 0 — —
SZSET14. 0 SO, 1 =] 1 11=0. 0 — —
SOZzSSo. O ST. S =] = 17O, O 1559. 0 165, 0
=ZT945. 0 S4. 0 19 = 1395, 0O 11=9. 0 1455, 0
150941, 0 S1. 4 19 1 1=25=2. 0 — —
SEZTES. 0O =Sz =2 13 = 1412 0 18270 —
454452 0O g5 1 19 = 1s5=0. 0 1383 0 1zZE6. O
I==5. 0 5= 8 19 1 1511 .0 — —

Type 5 Radar Waveform_12
Buor=1+% Pal=e Chirp Homber of
ODffzat Width O 3 Width Fulzexs per |[FRERT—1 (oaxs]) |[FET—2 (uox]) |[PET—3 (as)
(a=x] * i (MH) Barst
ZOS123. 0 Tz & 14 = 1142. 0 1287.0 -
FOTSE1. 0 T1.6 14 = 1952, 0 15720 -
S9153T. 0 T & 14 = 1Z216. 0 1530, 0 -
TSIES0. O Q4.5 14 = 1azz. 0 11990 1057. 0
1581510, 0 Sz 5 14 1 1459. 0 - -
SATISES. 0 az. T 14 = 1021.0 1552, 0 Zo0o. 0
SES9S9. 0 536 14 = 1697.0 1865, 0 19z4.0
TEZEID. O S7.4 14 1 1546. 0 - -
1STSET. 0 s5z.9 14 = 1465. 0 18340 -
513290 B, 5 14 1 1466. 0 - -
S44104. 0 2.6 14 = 1096, O 18200 -
TISO9S. 0 Qg9 14 = 1755. 0 1829, 0 1251.0
133254, 0 SE.9 14 = 1705. 0 11260 1911.0
ZEZEA4ATI. 0 ao. 0 14 = 1332, 0 11350 1419.0
SZ0E14. 0 TT. S 14 = 1107.0 1170.0 -
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Type 5 Radar Waveform_13

BFor=1i+ FPol = C]_:l.irp Homber of
IIEEE?et Wwadrie Ca= '(;]d[;]):l ;3::5 e FRT 1 L | FRT =2 L | FRT 3 L |
593959, 0 BT. 9 15 = 11435. 0 1995, 0 -
911=4. 0 2= 0 1= = 1=5==. 0 14==. 0 1SsOs. O
Z251Ss5T. 0 Sd. S 15 oS 1004, O 150z, 0 1ZS1. 0
41=541S. 0O T & 15 = 1554, O 1d=d. O —
STH1ES. O T=. = 1= = 1356, 0 17Ts=2.0 —
TiSs9. 0 a2 T 15 = 15390 11190 —
Z2Zz40z=. 0 BE. T 1= =2 17TZ0. 0 15=4. 0 —
SQS0O40. O S35 15 S 105=. 0 1585, 0 151=. 0
SSSsE04. O B0, = 15 1 1355, 0 — —
S1sS3T.0 BZ. 49 15 1 1565, 0 — —
Z13150. 0 S9. 5 15 1 1S49. 0 — —
ITZ49z. 0 b= | == 1= = 19S5, 0 1534, 0 1500, O
S38015. 0O 5T7T.35 15 1 1Z50. 0 — —
ZFl1ls04. 0O S=E. = 1= = 193z=. 0 1114. 0 190, 0
192504, O Q5. = 15 S ZOoo. O 1500, O 1110, O
=FS14TSE. O =5=.7T 1= 1 1=Z=11. 0 — —
S514544. 0 BT. 6 15 2 1554. 0 170G, O —
1=Z205%7. 0 21 .1 1= = 1115. 0 1174. 0 1S=1. 0
Type 5 Radar Waveform_14
Bur=t FPal Chirp Huomber of
ODff=et '.df; (ax) |Hidth Pul=e= per [PRTI—1 f(us) |[PRT—2 (u=s) ([PRI-3 C(u=)
(ax) * = (MH=x] Bur=zt
239562, 0 gz, 1 11 3 1501.0 1E64. 0 1089. 0
ABZETS. O a5, 4 11 = 1817.0 1158. 0 1526. 0
BETESE. O 5T, 2 11 1 1019. 0 - -
QogTaAT. 0 T4, 4 11 = 1406, 0 1117.0 -
212174.0 83.5 11 3 1005. 0 1Tas. o 1159. 0
435565, 0 BT.3 11 = 1907. 0 1043, 0 -
ESQETO. O 51.4 11 1 1633. 0 - -
S51479. 0 S4. 1 11 3 1032. 0 1326. 0 1015. 0
184985, O B&. 0 11 = 1S8T. 0 1040, 0 -
A0TI42. 0 Qz. 5 11 = 1182. 0 1985. 0 1446, 0
BI1545. O LT 11 = 1709. 0 1083, 0 -
854311.0 51.9 11 = 138T.0 1658. 0 -
157342, 0 TE. 3 11 = 1629. 0 1843. 0 -
Type 5 Radar Waveform_15
Bor=+t Fol Chirp Homber of
DEfzet S Ca=z) |Hidth FPulsex per (PERI—1 f(u=s) |[PERT—2 (ux) |[PRT-—3 (u=)
(a=) * = (MH=x] Bar=t
E540TE. O BO. = 12 1 1127.0 - -
SE1Z45. 0 BS. = 1=z 1 iTaz. 0 - -
TESE21. 0 TI. 0 12 = 1026. 0 1296, 0 -
1206853, O 1= 1=z = 1517.0 1824, 0 -
SETEEE. 0 S6. 0 12 = 1085, 0 190z, 0 1299, 0
554547, 0 BE. 9 12 = 1532, 0 1614.0 -
TAISTO. O ST 5 12 1 1502, 0 - -
Q9S116. 0 =N 12 = 12730 1657.0 -
SO0Z90. 0 TO. 1 1z = 1566, 0 1251, 0 -
S10152. 0 SE. 1 12 1 1774.0 - -
TISTS9. 0 5. 4 1z = 1840, 0 1145. 0 1191.0
BOTS4. O B1.9 12 1 1245, 0 - -
STERTTO. 0 0. 4 12 = 1262, 0 1650, 0 -
453659, 0 az. & 1z I 11z29.0 1335, 0 1001, 0
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Type 5 Radar Waveform_16

Bor=+%t Fal=e Cbirp Homber oif
2££§et Width Ca=) };;:?. g:izis per ([PRT—1 (o=]) |[FPRT—2 (uou=]) |[FRT—3 (a=])
B4553956. 0 g96. B 14 IS 1=Z65. 0 l10az. 0 15=5. 0
411=9. 0 TG, 2 14 = 1=30. 0 1805 0 -
234241 .0 B3, 1 14 = 1972, 0 1g47T. 0 -
4=TS515. 0 S4. 5 14 be] 1151. 0 1155. 0 1045, 0O
BEZ045. 0 Bo. S 14 1 16556, 0O - -
1T351. 0 B4.9 14 1 1405. 0 - -
=Z1111=. 0 55T 14 1 1111. 0 - -
40=10=. 0 94. 9 14 = 17530 17T54. 0 1033, 0
SoSo4d4. 0 a91.56 14 e 13685, 0 1559, 0 1450, 0
TAOIE9. 0 T, =2 14 = 16250 1555. 0 -
1565150 95, 6 14 IS 1595. 0 1555. 0 1637T. 0
SEOBES. 0 B4 5 14 1 1S7TE. O - -
ST3S42. 0 BT. 2 14 = 1s17T. 0 1zs5. 0 -
TEETO9. 0O TS. 1 14 = 1=3=4. 0 1854, 0 -
16z546. 0 &S9. T 14 IS 19=5. 0 1S9z, 0 1375. 0
Type 5 Radar Waveform_17
Buorst Pulee Chirp Huomber of
Off=et Width (us) Hidth Pulses per [FRI-1 f(us) |[PRI-2 (us) |[FRI-3 (us)
(a=s) * e (MH=z) Burst
4537050, 0 E4.T =] 1 1410.0 - -
T49826. 0 T4.2 a 2 1761. 0 1770, 0 -
1014355. 0 Bl.5 9 1 1955. 0 - -
159549. 0 TE. 9 9 2 1985. 0 1521.0 -
4533536T. 0 85.7 9 3 1527.0 1590, 0 1015. 0
TiBGTS. 0O 99. 6 9 5 1513. 0 1g3a1.0 1031.0
9521068, 0 50.9 9 2 1140.0 1237.0 -
157239.0 54,4 9 3 1505. 0 1074. 0 15325. 0
421365 0 B, 4 a 2 1540. 0 1392 0 -
BSE169. 0 BZ.1 9 1 1447.0 - -
947313, 0 56. 49 =] 3 1303. 0 1426, 0 1587T. 0
Type 5 Radar Waveform_18
Buour=t Pul=e Chirp Homber of
ODOff=set Width 3 Waidth FPul=ses per ([PRT—1 f(u=s]) |[PRT—2 (u=s]) |[PRT—3 (u=s]
(ax) * i MH=) Bur=st
955324, 0 B0 1 13 1 1305, 0 - -
SO0S146. 0 65, 5 13 = 17T46. 0 1645. 0 -
S1=2455. 0 T1. 9 135 = 106&. O 1939. 0 -
TiTa15. 0 923 13 3 1304. 0 1T7T.0 1914. 0
TZE4E. O B3, 9 1= = 1389, 0 1215. 0 -
50100, 0 Bz 4 13 1 1990. 0 - -
45TS60. O 53.1 135 1 1556, 0 - -
B93305. 0 T B 13 = 195=2. 0 1974. 0 -
47192, 0 S4.49 13 1 1=246. 0 - -
Z254T45. 0 ST.9 13 1 1342, 0 - -
450102, 0 95,9 13 3 159=2. 0 1975, 0 1549. 0
BEQETL. O ST.T 1= 1 1553. 0 - -
Z1610.0 B1.1 13 1 1Te3. 0 - -
Z25915. 0 BT.0 135 = 1179.0 1136. 0 -
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Type 5 Radar Waveform_19

Buor=+t Pul=e C]_lirp Homber of
l:éig;'_:et Width (o=l '(;;:;:;1 gizts per |PRT—1 (a=s]) |[PRT—2 (a=s) |[PRT—3F (a=)
405554 0O T=Z. 5 14 = 1459 0 19=26. 0 -
BO1457T. 0 654 14 1 11=25. 0 - -
TI=ZTTT. O T3. 6B 14 = 1515 . 0 1T35. 0 -
15957TT. O 525 14 1 1955, 0 - -
SZE3zZ00. 0 TS, T 14 = 1z08. 0O 1=11. 0 -
STSS1=. 0 TL. S 14 = 1915 0 184Z=. 0 -
TES440. 0O 99T 14 = 14=1. 0 1025 0 15a7T. 0
1E5EE4. O 4.4 14 = 1Z61. 0 11=1. 0 117=. 0
I5g91eZ2. 0 82T 14 = 1529, 0 1355 0 —
S5Z255. 0 55,4 14 1 1T79.0 - -
T4S4B81. 0O 1.9 14 =4 1753, 0 1474, 0 -
141597T. 0 TE. & 14 = 1732, 0 1Sez. 0 -
3554510 53,1 14 = 1194 0 1=37T7T.0 -
SZTOGBZ. O g4 T 14 S 1552 0 19s0. O 1504 0O
Ti9951. 0O 95 = 14 =] 1560, 0 1400, O 1557T. 0
Type 5 Radar Waveform_20
Bar=t Ful Chirp Homber of
Dff=et '.dfﬁ (as) |Hidth Pulses per [FRI-1 (u=) |[FERI-Z (us) |[PRI-3 f(us)
(u=s) 1 b (MHz ) Bur=t
1TTTEOD. O BS. B T 1 1324.0 - -
4BT33T. 0 91.9 T 3 1376, 0 1674, 0 1189.0
TST102. 0 99. 5 T 3 11z0.0 1806, 0 1701.0
1045449 0 TZ. 6 T z 1495.0 1497.0 -
1417420 T3 T T z 1095. 0 1959, 0 -
432783, 0 54,5 T 1 1059. 0 - -
T21274.0 a7.0 T 3 1515, 0 1072.0 1930. 0
1012666, 0 Tz.9 T z 1599. 0 1420.0 -
105915. 0 a9, 4 T 3 1530.0 1527.0 1035.0
FOR946. 0 51.3 T 1 1056. 0 - -
Type 5 Radar Waveform_21
Bar=t Pal Chirp Hamber of
Offset 'id:ﬁ (as) |Fidth Fulses per |[FRI-1 (us) |[FRI-2 (us) |[FRI-3 (us)
(n=) (MHz) Burst
TEIS40. 0 g1. 2 B z2 11230 11000 -
1036919. 0 B1.3 B 1 1553. 0 - -
TTIEL. 0 Qz. 7 B 3 1434. 0 182z, 0 1=270.0
400642, 0 B3. 2 B 2 1995. 0 1209.0 -
TE3Ez1.0 81T B Z 1462, 0 1226, 0 -
1047176, 0 BS. 8 B 1 1504. 0 - -
JE35E.0 BE. 4 B 1 1430.0 - -
J61300.0 506 B 1 1751.0 - -
BS42T1.0 Bl.8 B 1 1Tiz. 0 - -
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Type 5 Radar Waveform_22
Bur=t Pual Chirp Homber of
Offzet et (az) |Hidth Pulzex per (PRT-1 f(u=) |[PRI-2 (uz) [PRI-3 (u=x)
(ax] * = (MH=z) Bur=t
TS5081. 0 B3 1 10 1 1TEZ. 0 - -
994155, 0 S 10 3 1219.0 17T335. 0 17TT1.0
Z41141.0 2T.2 10 1 1311.0 - -
45Z3TZ2. 0 S5l1.6 10 2 1913. 0 14z1. 0 -
TZ33BZ. 0 93T 10 3 1135. 0 1as0. 0 1356, 0
9ESZ05. 0 Qo. T 10 < 10zz. 0 1134. 0 1T1i1.0
Z2107TBZ. 0 8T.2 10 3 1105. 0 15532. 0 1190. 0
45351354, 0 T™=. T 10 = 1009, 0 1149. 0 -
BO5351. 0 562 10 3 1925. 0 1TES. O 1056, 0
Q3TE25. 0 BE. 4 10 1 1439. 0 - -
151479, 0 B0. 3 10 1 1261.0 - -
4ZZ417T. 0 9z, 4 10 3 1644, 0 1625. 0 10z4. 0

Type 5 Radar Waveform_23
Boar=st Fol =e Cl_lirp Homber oif
l:EE:-)set Wideh Co=) }:i‘[:? ;3225 per |([FRT—1 Cm=Th FRT—F (o= FRET—3F (o=l
A44Z595. 0O Ta. 4 17 = 1325 0 1SST. 0O -
BE045=4. 0 55,1 17T 1 12=5. 0 - -
100595, O S1. 4 17T = 1805, 0 15535, 0 -
ZEO0SZ0. O s9.3 17 =3 1901. 0 1515. 0 1885, 0
423505, 0O [STS TR § 17T 1 1T1S. 0 - -
SSzeo0. O aa. = 17T = 1513, 0 1STE. O 1000, O
SOoT24. 0 =52 17T = i10z2a. 0 170, 0O 1970, 0
Z41BT4. 0O 8T.S 17 <} 1055 0 1544 0O 1044 0
A0ZE04. 0 [= e 17T 1 1TTE. O - -
SeEEaeS. 0 S5. 68 17T = 14=7. 0 1815, 0 1305, 0
B09E0. O az. s 17 =3 1za7. 0 1857T. 0 1Z07. 0
Z22zR20S. 0 T, 2 17T = 1535, 0 1085, O -
SESTOZ. 0 514 17 1 1EST. 0O - -
S4zZTZa. 0 L= = 17T = 1TS&. 0O 1=01. 0 147T=. 0
4135T. 0O s0. 1 17T 1 1TEG. O - -
Zozeg4. 0 =T.0 17T 1 15=4. 0 - -
SeIg0l .0 [S 1S -~ 17T 1 17T=4. 0 - -
sSzZ4954. 0 s0.9 17 1 19686, O = =

Type 5 Radar Waveform_24
Buour=1t Pal=e Chirp Homber of
Offset Width Cas) Width Folzexs per |([FET—1 (a=s]) FRET—Z f(m=s] FPRT—3 (m=s]
(o= (MH) Bur=st
ZsTiZ.0 E=2= I = 14 =S 1979, 0 1425, 0 1451. 0
zZ1lasz4. 0 B5S. 5 14 1 1545, 0 - -
41Z546. 0 T™S. 49 14 = 1014, 0 1445, 0 -
BOSTOS. O T1. =2 14 = 1s7T1.0 1079, 0 -
1951. 0 S51.6 14 = 19e5. 0 1669, 0 -
1958585, 0 S5.49 14 1 1ze4. 0 - -
SS90esS. 0 55. 35 14 1 1959. 0 - -
S5Z945. 0 BO. 35 14 1 15035, 0 - -
TTEAET. O S6. 0 14 1 1849 0O - -
1T1327T.0 S51.9 14 = 1TsT. 0 1Ts5. 0 -
SIBIETT.O S5, 5 14 = 1536, 0 15339, 0 1585, 0
5551170 T 1 14 = 1510, 0 1559. 0 -
TSZ307.0 S0.7T 14 1 1977T. 0 - -
14700 0 S6. 4 14 1 1s00. O - -
405150 59,1 14 = 1533, 0 137T=.0 i1o7To. o
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Type 5 Radar Waveform_25

Burst Pul Chirp Humber of
Dff=et '.dfﬁ (as) |Hidth Pulses per |[PEI-1 C(us) |[PRI-Z (u=) [FEI-3 (us)
(o= * s (MHz) Burst
S803159.0 55.49 ] 1 1507.0 - -
1094052, 0 517 ] 1 1455. 0 - -
156156. 0 52.8 g 1 15855. 0 - -
4TE94E. 0 Bl1.2 g 1 1345.0 - -
TEETET. O T™.0 g 2 1167.0 1571.0 -
1055135.0 BES5. 6 ] 1 1612.0 - -
150251.0 BE.T ] 2 1115.0 1630. 0 -
440359, 0 S51.2 ] 2 1957.0 1505. 0 -
TI1955. 0 B3.1 ] 1 1165. 0 - -
1019552. 0 99. 7 g 3 17T24.0 1390. 0 1372.0
Type 5 Radar Waveform_26
Burst Pulse Chirp Homber of
Dffset ¥idth (us) fi1dth Fuolsez per |[FRT-1 (us) [FET-Z f(us) [FEI-3 (us=)
(us) ! 55| (MHz) Burst
143153. 0 TT.6 5 2 1595. 0 1335.0 -
SOSE54. 0 91.8 5 3 1242.0 1542. 0 15873.0
89501, 0 g3.0 5 2 1154. 0 14T6. 0 -
1232651.0 a0, 1 5 2 1255.0 1356.0 -
953240 99, 1 5 3 1699.0 1360.0 1463.0
4B1540.0 a0 6 5 2 1169.0 1652.0 -
g24e0zZ. 0 a0 2 5 2 1440.0 1490.0 -
1158BET. O 9.4 5 1 1893.0 - -
Type 5 Radar Waveform_27
Bar=st Pal Chirp Homber of
Offset 'idiﬁ (as) |Hidth Fulses per [FREI-1 (us) |[PREI-—2 (us) |[FRI—3 (uas)
(o=s) (MH=z) Buar=st
ISTIZ. 0 853 10 3 1TE4. 0 1047. 0 112z. 0
ZTTTOS. O TE. & 10 z 1193.0 1315.0 -
S15779.0 Q4. G 10 3 1397.0 1854. 0 1081. 0
TEZ133. 0 EE. 4 10 1 1T45. 0 - -
5959. 0 55.2 10 1 1881. 0 - -
Z4TE94. 0 TE. 9 10 z 1417.0 1146. 0 -
459951. 0 T2, 4 10 z 1039.0 1223.0 -
TZ1T40. 0 &0, 9 10 = 1098, 0 1429. 0 -
aT4601. 0 55.8 10 1 1561. 0 - -
Z1TROE. O az. 1 10 3 1826. 0 1399, 0 1566 O
4B0BTI. O 53.3 10 1 1103. 0 - -
TOZT24. 0 1.0 10 1 1414.0 - -

FCC ID: 2AXJ4RE500X Page Number: 221 of 291



Report No.: 2102TWO0007-U3

Type 5 Radar Waveform_28

Burst Pul Chirp Homber of
Dffset '-df; (ax) |Fidth Pulses per |[PRI-1 (us) |[PRI-2 (us) [PRI-3 (us)
(us) ' =5 (AHz) Burst
1418055 0 a3 1 5 2 1631.0 1873.0 -
2522460 a4. 8 g 3 1430.0 1433.0 1942.0
E4502T. 0 86. 0 g 3 1035.0 16750 1734. 0
1003165, 0 85. 2 5 3 1165.0 1613.0 100, 0
1369594, 0 2.5 5 3 1954.0 1933.0 1437.0
237TT9z2.0 92.9 5 3 1051.0 1133.0 1335.0
BO15E9. 0 5T. 2 5 1 1488.0 - -
Ae2a01.0 a5 3 5 3 1617.0 1739.0 14340
Type 5 Radar Waveform_29
g:‘;::t iles E?:ull:]!; gﬁ::; ;et_r PRT-—1 C(u=) |[PRT—2 (u=) |[PRT-3 (u=)
o= Width C(m=) (MH=x]) Buour=+1
TOS00S. 0 7. 3 14 = 1295, 0 17EE. O 1873, 0
10zB06. O 55.3 14 =] 15615. 0 15359. 0 1555. 0
ZOE195. 0 T2, 9 14 = 1407. 0 1436, 0 -
455=T3a. 0 S4. 4 14 =] iTal. O 1=51.0 1S540, 0
BS4054. 0O B2. 8 14 1 1457. 0 - -
TOO16. 0O T1.5 14 = 1594, 0 1T44. 0O -
ZTZTBES. 0O S4.0 14 1 1T=5.0 - -
4BSTEZ. 0O BT. 2 14 = 18100 1157 0 -
BSSS555. 0 T5. 4 14 = 1=54. 0 1s7T4. 0 -
55217 0 &0z 14 = 1785 0 1243 0 -
Z49055. 0O SE.9 14 1 1=Z87.0 - -
142EEZ. O 51.3 14 1 1473, 0 - -
BIESTG. O S6. 35 14 1 11635. 0 - -
F1EEs. 0 B9, 7 14 = 1978, 0 1577. 0 -
Z25=245. 0 B5.5 14 1 1052, 0 - -
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Radar Type 6 - Radar Statistical Performance

Trail # 1=Detection Trail # 1=Detection
0=No Detection 0=No Detection
0 1 15 1
1 0 16 1
2 1 17 1
3 1 18 1
4 1 19 1
5 1 20 1
6 1 21 1
7 1 22 1
8 1 23 1
9 1 24 1
10 1 25 1
11 0 26 1
12 1 27 1
13 1 28 1
14 1 29 1
Detection Percentage (%) 93.3%
Type 6 Radar Waveform_0
Lize muzy |O d = = =
[ n ] =547 SsSol SS=S =1 === L= ==y
== S=55 =T1S SE55= =1 =1=1=1 =SS1S
A1 S45S S54= SES5 ==T1 =S=S0
1= =S4 =10 1 ==14a Sa=s =SS
=i 5511 S516 =] e L= == == |
== S=20= =S4q451 = = = e SS0O= S=94
= Sa=T S==T =S=TT SaAGS =497
== 1= S4a=1 SaSs=S =T1T Sa0E =SSS1
A S=as SZES S=SOoT S=2T= =30
R 8= =514 sS525 ==09 === Sa=5a
=i Sa=1 5555 = Y= 1oy E=t=4 =11 SE=S
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mu Report No.: 2102TW0007-U3

Product AX1500 Wi-Fi 6 Range Extender Temperature 27°C

Test Engineer Kevin Ker Relative Humidity 65%

Test Site WZ-SR2 Test Date 2021/05/08
Test Iltem Radar Statistical Performance Check (802.11ax-HE40 mode — 5510MHz) - Mode 3

Radar Type 1-4 - Radar Statistical Performance

Trial Frequency 1 detect ,0 no detect
(MHz) Radar Type 1 Radar Type 2 Radar Type 3 Radar Type 4
0 5491.0 1 1 1 1
1 5492.3 1 1 1 0
2 5493.6 1 1 0 1
3 5494.9 1 1 1 0
4 5496.2 1 1 1 1
5 5497.5 1 1 1 1
6 5498.7 1 1 1 1
7 5500.0 1 1 1 1
8 5501.3 1 1 1 1
9 5502.6 1 1 0 1
10 5503.9 1 1 1 1
11 5505.2 1 1 1 1
12 5506.1 1 1 1 1
13 5506.9 1 1 1 0
14 5507.8 1 1 1 1
15 5508.7 1 1 1 0
16 5509.5 1 1 1 0
17 5510.4 0 1 0 0
18 5511.9 0 1 1 1
19 5513.4 1 1 1 1
20 5514.8 0 1 1 1
21 5516.3 1 1 1 1
22 5517.8 0 1 0 1
23 5519.2 1 1 1 1
24 5520.7 0 1 0 1
25 5522.2 0 1 1 1
26 5523.6 0 1 1 1
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Trial Frequency 1 detect ,0 no Trial Frequency 1 detect ,0 no
detect detect

27 5525.1 1 1 1 1

28 5526.6 0 1 1 1

29 5529.0 1 1 1 1

Probability: 73.3% 100.0% 83.3% 80.0%
Aggregate (Radar Types 1-4): 84.2% (>80%)
Radar Type 1 - Radar Waveform
Trial Id ¥;::r i?ﬁ:ﬁ PRI (as) | poyper of :::;fﬁr-
us) (u=)

Download 0 Type 1 1.0 §55.0 B2 53195, 0
Download 1 Type 1 1.0 B35.0 53 59540
Download z Type 1 1.0 T55.0 0 53060, 0
Download 3 Type 1 1.0 B75.0 TS SrEad. 0
Download 4 Type 1 1.0 Ti5.0 T4 531320
Download 5 Type 1 1.0 B95.0 T8 53045, 0
Download B Type 1 1.0 515.0 10z SFE36. 0
Download T Type 1 1.0 B55.0 51 53295, 0
Download g Type 1 1.0 575.0 Bl 53555, 0
Download g Type 1 1.0 E75.0 az 53176, 0
Download 10 Type 1 1.0 915.0 55 53244 1)
Download 11 Type 1 1.0 938.0 5T 5345
Download 1z Type 1 1.0 §95.0 59 SFIEZ. 0
Download 13 Type 1 1.0 E95.0 59 53222 1)
Download 14 Type 1 1.0 B15.0 BB 531450
Download 15 Type 1 1.0 3043. 0 18 SATT4. 0
Download 16 Type 1 1.0 3058. 0 18 55044 1)
Download 17 Type 1 1.0 SRES. O 20 S3T00. 0
Download 1 Type 1 1.0 2493, 0 27 54845, 0
Download 19 Type 1 1.0 T09.0 5 53175, 10
Download z0 Type 1 1.0 2410.0 27 53020, 10
Download 21 Type 1 1.0 3022, 0 18 54395 0
Download i Type 1 1.0 2619.0 21 549930
Download 23 Type 1 1.0 1591.0 34 54084 0
Download 74 Type 1 1.0 2254, 0 24 54095, 0
Download e Type 1 1.0 2910. 0 14 55290, 0
Download a Type 1 1.0 2196. 0 25 54900. 0
Download ) Type 1 1.0 g34.0 B4 53376, 0
Download ai Type 1 1.0 1882. 0 32 53824, 0
Download 29 Type 1 1.0 2077. 0 26 54002 1
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Radar Type 2 - Radar Waveform

. Radar P?lse Homber of Naxefors
Trial ITd Type Width FRTI (as) Fulses Length
(u=) (u=)
Download 0 Type 2 4.9 150.0 29 S220.0
Download 1 Type 2 2z 151.0 25 37750
Download z Type 2 1.5 192.0 23 4416.0
Download 3 Type 2 3T 157.0 2T 4233.0
Download 4 Type 2 4.2 219.0 25 B132.0
Download 5 Type 2 3.9 Z02.0 25 SE56. 0
Download B Type 2 2.9 191.0 26 49660
Download i Type 2 1.4 Z03.0 23 4663, 0
Download 3 Type 2 2T 214.0 25 5350.0
Download 3 Type 2 4.4 Z06.0 25 576G, 0
Download 10 Type 2 2.1 17T1.0 25 4275.0
Download 11 Type 2 1.7 175.0 24 42T2.0
Download 1z Type 2 3.9 204.0 25 5T12.0
Download 13 Type 2 1.4 155.0 24 4392.0
Download 14 Type 2 2.2 225.0 25 SEZ5.0
Download 15 Type 2 1.0 166.0 23 3515.0
Download 16 Type 2 1.6 152.0 24 36458.0
Download 1T Type 2 1.1 zZz0.0 23 S060. 0
Download 1a Type 2 4.1 201.0 25 SEZE.0
Download 19 Type 2 4.1 155.0 25 4254.0
Download 0 Type 2 1.8 193.0 24 4632.0
Download 21 Type 2 z.0 167.0 24 4005, 0
Download ze Type 2 4.7 17T.0 29 5133.0
Download 23 Type 2 3.6 15z2.0 2T 4314.0
Download 24 Type 2 2.3 150.0 25 37500
Download 25 Type 2 1.4 Z26.0 23 5195.0
Download 2B Type 2 3T 199.0 27 53T3.0
Download 2T Type 2 1.0 154.0 23 3342.0
Download a Type 2 2.5 185.0 25 46250
Download 29 Type 2 2.6 165.0 25 4125.0
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Radar Type 3 - Radar Waveform

B Radar ol =e Homber of Haveform
Trial Id Type 'H'[l d;.h FEI (u=) Pulces I(.::jgth
us
Download ] Type 3 9.9 472.0 15 G496, 0
Download 1 Type 3 T.2 483.0 16 T405. 0
Download 2 Type 3 B.5 203.0 16 Jz45.0
Download 3 Type 3 8.7 335.0 15 BOE0. 0
Downl oad 4 Type 3 9.2 2535.0 15 alg4. 0
Download g Type 3 5.9 2a4.0 15 SZ92.0
Downl oad B Type 3 7.9 432.0 1T Tidd. 0
Download T Type 3 B4 474.0 16 Ta54.0
Downl oad g Type 3 T.7T 354.0 1T BO15. 0
Download q Type 3 9.4 391.0 15 TO3E. 0
Downlaoad 1a Type 3 T.1 J0z.0 16 45320
Download 11 Type 3 B.T 4BT.0 16 T4TE. O
Downlaoad 1z Type 3 3.9 445.0 15 g010.0
Download 13 Type 3 B.9 452.0 16 TZ3Z.0
Downlaoad 14 Type 3 T.2 297.0 16 47520
Download 15 Type 3 g.0 282.0 16 4192.0
Downlaoad 16 Type 3 G.6& Z00.0 16 JE200.0
Download 17T Type 3 B.1 353.0 16 SE43. 0
Downlaoad 15 Type 3 9.1 Z84.0 15 47520
Download 19 Type 3 q.1 422,10 15 To9E. 0
Downlaoad 20 Type 3 6.5 270.0 16 4320.0
Download 21 Type 3 7.0 Fzz.0 16 5152.0
Downlaoad 22 Type 3 9.7 39E.0 15 TOSGE. 0
Download 23 Type 3 8.6 311.0 17T SZ8T.0
Download 24 Type 3 T.3 ZE6.0 16 3643, 0
Download 25 Type 3 B4 39T.0 16 BI5Z.0
Download 26 Type 3 8.7 375.0 15 BTS00
Download 27 Type 3 6.0 455.0 16 TZE0.0
Download 28 Type 3 7.5 Z07.0 1T 35219.0
Download 29 Type 3 T.B 2B5.0 17T 4505.0
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Radar Type 4 - Radar Waveform

: Radar Puls<e Humber of | I oveform
Trial Id Type 'iéld;.h PRI (usx) Fulses I(.::%th
us
Downlaad n Type 4 19.5 472.0 16 o5z, 0
Download 1 Tvpe 4 137 483.0 13 gO019.0
Downlaad 2 Type 4 121 203.0 1z 2436.0
Download 3 Tvpe 4 17.0 333.0 15 S0Z5.0
Downlaad 4 Tvpe 4 18,1 258.0 15 4320.0
Download 5 Type 4 17.5 294.0 15 4410.0
Downlaad B Tvpe 4 15. 4 432.0 14 BO45. 0
Download T Type 4 12.0 474.0 12 SB35, 0
Dawnlaad a Tvpe 4 14.8 354.0 14 4956, 0
Download 9 Type 4 8.7 391.0 16 BES6. 0
Download 110 Tvpe 4 13.6 302.0 13 39268.0
Downlaad 11 Type 4 12.7 46T. 0 12 S604. 0
Download 1z Tvpe 4 17.6 443.0 15 BETS. O
Downlaad 13 Type 4 13.0 452,10 13 5576, 0
Download 14 Type 4 13.8 297.0 13 35861.0
Downlaad 15 Tvpe 4 11.1 282.0 12 3144.0
Download 16 Type 4 12.5 2000 12 Z2400. 0
Dawnlaad 17 Tvpe 4 11.3 353.0 12 4236.0
Download 15 Type 4 17.8 264,10 15 3860.0
Download 19 Tvpe 4 17.9 422,10 15 B330.0
Downlaad 20 Type 4 12,7 270.0 12 JE40.0
Download 21 Tvpe 4 13.3 3220 13 4186, 0
Downlaad 22 Type 4 19. 4 3820 16 B2TZ2.0
Download 23 Tvpe 4 16.9 311.0 15 4BB5. 0
Downlaad 24 Tvpe 4 14.0 228.0 13 2964, 0
Download 25 Type 4 11.9 347.0 12 4T64. 0
Dawnlaad 26 Tvpe 4 17T.1 3150 15 SBZ5.0
Download 2T Type 4 11.0 455.0 12 S460. 0
Download 25 Tvpe 4 14. 4 207.0 13 ZB91.0
Downlaad 29 Type 4 14. B 2830 14 3T10.0
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Radar Type 5 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
0 5510.0 1 15 5494.2 0
1 5510.0 1 16 5495.0 1
2 5510.0 1 17 5494.2 0
3 5510.0 1 18 5497.8 1
4 5510.0 1 19 5497.8 1
5 5510.0 1 20 5525.0 1
6 5510.0 1 21 5524.6 1
7 5510.0 1 22 5521.0 1
8 5510.0 1 23 5522.6 1
9 5510.0 1 24 5524.2 1
10 54954 1 25 5525.4 1
11 5495.0 1 26 5522.6 1
12 5497.8 1 27 5525.8 0
13 5495.0 1 28 5524.2 1
14 5495.8 1 29 5523.8 1
Detection Percentage (%) 90.0%

Type 5 Radar Waveform_0

Bor =+ Pl = l_—.l_lirp Hombeaer oif

DFF=e+t Wi det Coa=1 Wi detlh Pol=se=s per PRT—1 =1 PRT—2 =1 PRT—3 =1
Ca=xl AHT 3 Bor =+t

1=7T460. O as. 6 =0 = 1554 O 14=9. O 1==7T. 0O
ETS0OT0O. 0 [=1=T =0 1 1T4A4S. O — —
“A41S17T1. 0 SEe. 3 =0 1 1T5S. 0O — —
SE1015. 0 [= b= =1 =0 = 1375, 0 1404, O 1=3S0. 0
1097T==. 0O =9, 35 =0 = 1450, O 1==9. O 1105, O
ZS4a4z90. O SE. 0 =0 = 10=1. 0 1099, 0 17T=4-1. O
S99eEl . O TA. = =0 = 1S51. 0 11=0. 0 —
SaS4a3=. 0O [=1= =) =0 1 159S. 0O — —
Q21540 T1L. = =0 = 1163 O 1=0=. 0O —
=E3a5a5S. 0O b= FEEE 8 =0 = 1=55. O 1=55. 0 1040, O
SSZASE. O =R =0 1 1T==. 0 — —
SZ2TeTT. 0 [=3= 1 =) =0 1 1S53=. 0 — —
T4100. O [=1 =T 3 =0 = 101=. O 1sa=. O 1=07. O
=Z195s0=. O [ R =0 1 1209, O — —
SE4S16. O BS. S =0 1 iT3ag. O — —
S10130. 0 =1.0 =0 1 117S. 0 — —
S5495. 0 55, = =0 1 1664 O — —
Z018e9=_ 0O 51.5 =0 1 1415 O — —
SAS00zZ. O ST. 3 =0 = 1S0o9. O 1=1-1. 0 i911. 0
A903=Z=. 0O oS, 1 =0 = 11==. 0 115S. 0 1==2=. 0
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Type 5 Radar Waveform_1

Buar=st Pul=e Chirp Hoamber of
Dffset Width (us) Width Fulse=x per ([FET-1 (u=s) [PRT-2 (u=) |[FETI-3 (u=s)
(a=) * — (MHz) Bur=t
TO325. 0 59.8 =] 1 1300.0 - -
35346120 B3.1 9 1 1227.0 - -
SOEE9S. 0 g6, 4 =] 5] 1515.0 1730, 0 1616.0
SE1TS1. 0 52,8 =] 2 10700 1919. 0 -
ITTTO. 0O BE. 5 9 1 1407.0 - -
S0Z068E. O E5.1 =] 1 1z201.0 - -
S56517T9. 0 53.6 =] 5 107z, 0 1176. 0 1215.0
S530154. 0 50,0 =] 1 154Z2.0 - -
5215.0 BS.T 9 2 1235.0 1555. 0 -
ZBEI1IBS. 0 TO. 2 =] z 1Z256.0 1544. 0 -
532924, 0 TZ2. 8 =] 2 13972, 0 10iT. 0 -
Type 5 Radar Waveform_2
Burs=st Pul Chirp Homber of
Offset '.df; (as) |Hidth Fulses per |[FEI-1 (us) |[FRI-Z (us) |[FRI-3 (us)
(u=) B =5 (MHz) Burst
aTe247. 0 Bl. 2 T 1 1733.0 - -
1295884, 0 gB. 1 T 3 1145.0 11890 1797.0
289540, 0 BZ. 5 T 1 18060 - -
B1121Z2.0 83.8 T 3 1285.0 157T.0 1895.0
9353347.0 89,4 T 3 1TTT.0 1887.0 10286, 0
125T301.0 TE. S T z 1891.0 1228.0 -
24977TT. 0 BS. 4 T 1 1728.0 - -
5T1S135.0 936 T 3 11160 197T7.0 14720
SOSED3. 0 5T7.1 T 1 17230 - -
Type 5 Radar Waveform_3
Baor=st Pul=e l:]_:lirp Homber of
Cziiaset Width Co=) '(;i‘-[::;l gizis per |[FRET—1 o=l PRIT—2 (o=l FPRET—3F (o=l
BS4Sa0. 0 BT.T 15 = 10660 1106 0 -
1176=9. 0 a5 1 15 = 11493, 0 1345 0 1z59. 0
zase3a. 0 BE. S 15 = 1876. 0 1962 0 -
ASO06ZZ. 0 T1.9 15 = 1075. 0 1182 0 -
BEZZ43. 0 51,3 15 1 1953. 0 - -
as=z40. 0 as. 9 15 = 1980. 0 18z0. 0 1153. 0
ZTE4S4. 0 Q1.3 15 = 1135. 0 10Ss. 0 1274. 0
ASTOSE1. O o5 4 = = 1237.0 1944 0 1039, 0
E401TZ. O B1.2 15 1 1630. 0 — -
TEIZO4. 0 sa.0 15 = 114=. 0 152z 0 -
54953, 0 B1.7T 15 1 1115. 0 - -
AZAZEE . O a5. 5 15 = 16360 174z 0 17260
E1Ta13. 0 = 15 1 1511.0 — -
S096E. 0O B=. T 15 1 1339. 0 — -
SEE4A0Z. 0 54,5 15 1 1785, 0 — -
41z407. 0 a5 4 15 = 1531.0 1117. 0 177a.0
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Type 5 Radar Waveform_4

Bor =it Pol=e Chiryg Homber oif
NDFFFszet Wwidrh Coa=X Wadth Fuolcses per FRT—1 (o=l FRT—F (o=l FRT—3F o=l
(Gt ] (AH=] Boar=*%
SZTTSE. O N 17 = 1835, 0 170S. O —
ZSSTE. O TS, T 17 E 1Z80. 0 11835, 0 -
1=S6=Z=1. 0 (=1~ =1 17T = 1=57T=. 0 17TsSs. 0 —
S4B055. O S 1 17 ] 1515, 0 1SZ6. 0 19=9. 0
SOg9=E6S. O S=. 1 17T 1 1=5=1. 0 — —
S531. 0 T4, 2 17 = 1535, 0 1090, 0 —
16E61=1. 0 ST = 17T = 1=Z=658. 0 14=1. 00 17=9. 0
S2eET4. 0 so. 9 17 1 1124. 0 — —
4S5sSd941. O Ed. S 17T = 1057 0O 1=Z05. 0O —
551159, 0 s3. 0 17 1 1170. 0 — —
l146=17T. 0 TS 17T = 1144 00 11=4. 00 —
S0TSS3. 0 T3. 9 17 = 1675, 0 1473, 0 —
4AESES5. O TTr. B 17T = 1===1. 0 19=5. 0O —
EEZ9EES. O TE. 1 17 = 1887, 0 1425, 0 —
1654, 0 TEZ. B 17T = 1==s9. 0 151401 —
=TS0, 0 az. a9 17 E] 1107. 0 1702, 0 1145, 0
4So0g9s. O [=1= 17T 1 101400 — —
510016, O 0. T 17 = 1054, 0 15190 —
Type 5 Radar Waveform_5
Baor=si Pl = Chirp Homber of
DfFfset Width C ¥ Width Folsexs per |[FRT—1 Coas) FRT—Z (mx] FRT—3F (o=
(=D * .= (H=D Bar st
113355, 0 TO. 4 168 z 1S39. 0 1315, 0 -
253624, O T4, S 16 =3 1595. 0 1549, 0 -
AS3645. O ad. 4 16 <] 1095, 0 1111.0 17S9. 0
BZ4476E 0O T4 4 16 = 1TES. 0O 1594 0 -
az3541. 0 a1, 2 16 = 1590, 0 1049, 0 -
ZBZd912. 0 TT. T 16 =z 1050, 0 1863, O -
4SZ4242. 0 B39 16 1 1432, 0 - -
EOZS96. O s5. 3 16 <] 1791.0 1272, 0 1510. 0
TizZZE. O =5 16 = 1105. 0O 1Z1=z. 0 17ST. O
Z41590. O a9, T 16 <] 1232, 0 1S02. 0 14TS. O
4133TS. O 55. 4 16 1 1129.0 - -
S51942. 0 Ss4.3 16 <] 1514. 0 1022, 0 1437, 0O
S0O431. 0 S0, 0 16 1 1825, 0O - -
Z20TaT. 0 T3, 4 16 = 1S07. 0 1S30. 0 -
SOZES3. 0 =sT.9 16 1 1252, 0 - -
SE09SZ2. 0 as. 4 16 <] 1141.0 1550, 0 1309, 0
29517, 0 TO. 6 16 =] 1S17.0 1T1E6. 0O -
Type 5 Radar Waveform_6
Buor=1t P Chirp Homber of
Off=eat ..."1. drh (a=y |Hidth Fulse=s per ([FPET—1 (u=s) |FEI—2Z (u=]) |[PRI—3 C(a=s)
(o= * o (MH=) Buor =t
245159, 0 ST 1= 1 1541. 0 - -
449204, 0 Q95,5 12 3 13320 1979.0 11350
E57945. 0 59,4 1z 1 1930. 0 - -
10149, 0 54T 12 1 191=5. 0 - -
Z1TOsz. O 5. 6 1= bc] 1181. 0 1355, 0 1=277T.0
425919, 0 aT.49 1= e ] 1359.0 1091, 0 15617T. 0
B31435. 0 BT.S 12 =4 1595. 0 1635. 0 -
539559, 0 52,3 1z 1 1853. 0 - -
191375, 0 a5, 3 12 3 1251. 0 15250 17O O
F39445 0 BS. 35 1= 1 190z 0 - -
GOs0OS0. O BT. 35 1= = 1544, 0 1457T. 0 -
125940 BT.S 12 =4 17240 16440 -
168025, 0 851 12 3 15850 12350 13510
3TZEQ9S. 0O 6.5 12 3 1Z265. 0 1527T.0 15560
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Type 5 Radar Waveform_7

Bar=st FPulse Chirp Hamber of
Dff=seat ¥idth (us) W1dth Fulses per |[PRI-1 (us) |[FRI-2 (us) |[FRI-3 (ux)
(as) (MHz) Bur=st
044685, 0 B, 9 B z2 11460 1529.0 -
1227459, 0 a0.3 B 2 1139.0 1246.0 -
2139176.0 g0, 5 B 2 138950 1734.0 -
540984, 0 qQz. 3 B 3 1486. 0 1935. 0 1T15.0
ge4z2T2. 10 ™. T B 2 1590. 0 1762.0 -
1188157T.0 g1.1 B 3 15260 i0i0.0 158420
1T926T. 0 94 4 B 3 1386.0 1699. 0 1364.0
S01795.0 92, 6 B 3 1104. 0 10z0.0 1T1Z2.0
SZ3845. 0 o9, 3 B 3 1520.0 1585.0 1882.0
Type 5 Radar Waveform_8
Bur=st Fol=e Chirp Huomber of
DEfset Hidth 3 Hidth Fulses per |[FRET-1 (us) |[PRT-2 (us) |[PET-3F (us)
(n=] * A (MHx]) Bur=+%
TIZ0OEO0. O TO. 2 11 z 16500 13932 0 -
Q55240 G4 2 11 1 11770 - -
19004, 0 8554 11 = 19090 13500 1942 0
S42Ted. 0 87.5 11 3 125340 10420 10010
TE444E. 0O 9z B 11 e 19e4. 0 1624 0 13650
BEIO0TS. 0 85,3 11 = 15460 12550 1157. 0
Z92B95. 0 53.0 11 1 1T41. 0 - -
S16459. 0 s0.1 11 1 11650 - -
T4018E. O B&. 0O 11 1 10350 - -
41BB0. 0 TA. 2 11 = 1z05. 0 1TTE. O -
ZB5190. 0 55.5 11 1 1665, 0 - -
457934, 0 &6T. 58 11 = 13Ta. 0 16590 -
Tioo40. O Qa4 11 = 119=. 0 15320 1349 0
Type 5 Radar Waveform_9
Bor=t Pol = Cl_n.irp Hombaer oif
l:EEisz_set Wi At G2 'I'(;]c}:_l:;. gﬁz:s e FRT—1 o= FRYT —=F o= FRT—3 o=
p=1=1 = | p=I=la =i 15 = 1S==. 0 1S=1. 0 1545, 0
1g194=. 0 TE. O 15 = 1555, 0 1Ss7Ta. 0 —
Sl4ad1=S. 0 TE. 9 135 = 1T1s. 0O 1815, 0 —
AET14S5. 0O TE. 9 135 = 1=27Ts. 0 1S&57T. 0 —
El1951=._0 TE. S 13 = 1ss0. 0 i1019. 0 —
l14=457T. 0 TEZ. 0 13 = 11e=.0 1==1. 0 —
295945 0 [= 1= =1 15 = 1405 0O 1295 0 —
4439544 0 Bz 3 15 1 1191 .0 — —
Sgglas. 0 h=1=1 =1 15 = 1zas. 0 1TSE8. 0O 1S=7T. 0
1=44a0. 0O ToO. 4 15 = 1754, O 15S1. 0 —
=ETTS40. 0 5=, 7T 135 1 115s=. 0 - —
ASZ0OTEE. O 53 = 135 1 1171. 0 - —
S=S0=07 .0 [=1= 1 =1 13 = 18615s. 0 1345, 0 1T=9. 0
1050168, 0 S=4. 0 13 1 1TO=. 0 - —
2553160 B9, 5 15 = 16934 0O 1140, O —
410531 .0 S51. 1 15 = 1444 0O 1511 .0 —
SEeEZ=0=. 0 TS, = 15 = 119, 0 17TS1. 0 —
ST=Z==G. 0 =ST.3= 15 1 14=5. 0O - —
=Z95=Z=. 0 TG, = 135 = 1515, 0 10==. 0 —
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Type 5 Radar Waveform_10

Bur=t Pual Chirp Homber of
Dff=et width (ax) |Hidth Pulzes per [PRI-1 (u=) ([PRI-2 (us) |[PRI-3 C(a=s)
(=) : b (MH=z ) Bur=t
BETI2T4. 0 B2 2 =] 1 145T.0 - -
943209. 0 59.2 9 1 1734. 0 - -
117852, 0 §9. 2 =] b 1594. 0 1337T.0 1536. 0
2818220 a0. & =] < 1121.0 1023, 0 12420
B45961. 0 55.1 9 1 1064 0 - -
Q10BEE. O BO. 4 =] 1 1802, 0 - -
S562T.0 TS. 3 9 2 1=249. 0 1457. 0 -
349305, 0 BT. 1 =] 2 16TE. O 1501.0 -
B1Z390.0 95. 3 9 3 1254. 0 1555. 0 1545. 0
STSE95. 0 B5. 1 =] 1 1100, 0 - -
E3202.0 1.2 =] 1 1025.0 - -
Type 5 Radar Waveform_11
Bar=st Fulse Chirp Haomber of
Dffzet ¥idth (as) Hidth Fulzex per (FRI-1 (ux) |[FRTI-Z (us) ([FRI-3 (ux)
(=) * i (MH=z ) Bur=st
3455650 S5. 6 =1 3 1113. 0 1131.0 13680. 0
BE392T5.0 Td. B =1 2 1335.0 1245. 0 -
929201.0 TS. B =1 2 1517.0 1659. 0 -
22631.0 T4.5 =1 2 1357T.0 107&. O -
130684, 0 g1.5 =1 2 1290. 0 1396. 0 -
BOSS46. 0 54.5 =1 1 1900. 0 - -
S943515. 0 ES. 4 =1 1 1371.0 - -
1155514. 0 52,8 =1 1 107T.0 - -
27T250.0 B4. B g 1 1552. 0 - -
SBT356. 0 T2, 3 =1 2 1073. 0 1151.0 -
Type 5 Radar Waveform_12
Bur=t lem Chirp Humber of
%£:§et EEEES Goed) 1;;:? Pul=e= per |PRI-1 (a=) |PRT—2 Ca=) |[PRT—F Ca=2
SO4S8E. O EERE 18 1 i3Sz, 0 - -
BT4B85. O TE. @ 15 = 11858, 0 1305, 0 -
141=20. 0 T B 18 = 1ST1.0 1271. 0 -
11240, 0 as. 8 18 = 17400 1626, O 19z, 0
4EEE40. O =1, T 18 = 1TEE. O 1ZES. O -
BSZOS4. O =4, = 18 = 1esz. 0 1m0z, O 1z17.0
1Z0890. 0 =30 18 1 1854, 0 - -
za1325. 0 =512 15 = 1z04. 0 154z, O -
AB0OSE. O =23 =5 = = 14340 1572 O 117=. 0
BIETIS. O Ba. 1 18 = 121%. 0 119z, 0 -
ogsg9. 0 s7. 8 16 = 1456, 0 1005, O 189z, 0
ZTO4ZE. O Ti.= = = 111=. 0 1431. 0 -
140781, 0 Ta. = 18 = 1023 0 1933, 0 -
B1Z115. 0 55. 5 18 1 1954, O - -
TasZa. 0O as. = 15 = 1000, 0 1507, O 191z 0
R == ] sa. 5 16 1 1434 0 - -
41595T. O 855 18 = 1374 0 1283, 0 15847. 0
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Type 5 Radar Waveform_13
Burst Pulse Chirp Humber of
ODffzset Width (us) Hidth Fulzex per (FRI-1 (m=) |[FERI-2 (uxs) |[FEI-3 f(us]
(a=) (MHz) Bur=t
1005650, 0 BS. T g z 1167.0 1160.0 -
95543, 0 BG&. 5 S 1 1552. 0 - -
35910350 51.2 S 1 1865. 0 - -
ETITZ1. 0 54.49 S 1 1454. 0 - -
9ETTI1. 0 a8T.T S 3 1965, 0 1254. 0 1B7T5. 0
BE2535. 0 aT. 2 S 3 1BBS. 0 1352. 0 1495, 0
3524440 5.4 S 3 1220.0 1559. 0 16900
B43201.0 51.85 g = 1515.0 1637T.0 -
933625. 0 T4 2 g8 2 1645. 0 1312.0 -
2B900. 0 T4. B g z2 1662. 0 1566. 0 -

Type 5 Radar Waveform_14
Barst Fulse C]_lirp Hoamber of
l:'l::'i'-)_iet Width Ca=l 'l':.;il[::;l gizis per |[FETI-1 (u=) |FRTI-2 (u=s) |[FRETI-3 (us)
ZB4BSZ. 0 B5. 0 9 1 15460 - -
205935, 0 TZ2. 6B a9 = 1275.0 1531. 0 -
T49011. 0 B5.0 9 1 1413. 0 - -
QIO0E5E. O BS. T a 1 1951. 0 - -
25344110 5.4 =} = 11035. 0 1371. 0 -
4TEZZ5. 0 a9z, T 9 ] 1552. 0 1TZ0.0 15000
T19235. 0 53.9 a9 1 1266, 0 - -
aEl45l. 0 S2.6 a9 1 1516.0 - -
204749, 0 52.3 a = 1011.0 1479. 0 -
448907. 0 B5. 5 =} 1 1975. 0 - -
BEBTIE. O a5. 5 9 ] 1597.0 1854. 0 1525. 0
300535, 0 TBE. S a9 = 1537.0 1466, 0 -

Type 5 Radar Waveform_15
Burxst Pulse Chirp Homber of
Dffset Width (as) Width Fulses per (FRT-1 (us) (FRI-2 (us) |[FRI-3 (u=s)
(u=) * =5 | (M) Burst
2B2515.0 TG, 2 5 2 1353.0 1840.0 -
BE5T4Z. 0 TE. 2 5 by 1319.0 1334.0 -
g937TTIZ. 0 S6.0 5 3 1471.0 1862.0 10z1.0
1353349.0 BL1.7T S 1 1241.0 - -
21TBZ1.0 96. 1 5 3 187T0.0 1543.0 1016.0
581461.0 B3.5 5 1 1553.0 - -
94368430 BE. & 5 by 1B2T.0 1831.0 -
130802870 502 5 1 18000 - -
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Type 5 Radar Waveform_16

Burst Pul Chirp Humber of
Dff=et '.dfﬁ (as) |Hidth Pulses per |[FRI-1 fus) [FRI-Z (us) [FEI-3 (us)
(a=) * o (MHz) Bur=t
13837T.0 T3.0 T z 1373.0 1974. 0 -
428055, 0 89.3 T 3 1505. 0 1565. 0 1505. 0
T19259. 0 T1.49 T 2 1499. 0 1133.0 -
10091780 B63.0 T 2 15374. 0 1325.0 -
102440, 0 6. T T 3 1773.0 1564. 0 1593. 0
392351.0 86,3 T 3 1947.0 1645. 0 1194. 0
B33955. 0 B3.3 T 1 1505, 0 - -
aT3zaal. 0 BT. 4 T 2 19438, 0 13z31.0 -
BESET. O T1.49 T 2 13200 16ET. 0O -
35T239.0 TH. 8 T 2 1554. 0 1342. 0 -
Type 5 Radar Waveform_17
Burst Pulse Chirp Homber of
Dff=et ¥idth (as) ¥idth Puolses per |PRT-1 (u=) (FRI-Z (us) |[FRI-3 (us)
(us) (MHz) Bur=t
S10286.0 TE. 3 5 2 10BS. 0 10440 -
11741940 B1.9 5 1 1315.0 - -
38976, 0 5T 4 5 1 1714.0 - -
402366, 0 096 S 1 1631.0 - -
TE4147T.0 3.0 5 3 13060 1469.0 1455.0
1129448 0 LE.5 5 1 1220.0 - -
14305020 BE. 4 5 2 1782.0 1970.0 -
3BTT4E.0 534 5 1 1051.0 - -
Type 5 Radar Waveform_18
3EZZt Pulse E:.lid:lr;. 1]:3::: ;fr PRET—1 C(u=) |[PRT—2 C(a=) |[PRET—3F C(u=)
[ D ] R Tmsll (MH=] Bor =t
==Z9Q000. 0 Bz 1 17T 1 1=a7. 0 —
SOossSg94. O T, =2 17T = 1559. 0 117=. 0
BETS551. 0 TS, 4 17T = 1866, O 197T&. O -
147040, O Sz, 9 17T 1 1856 0O — —
S17T9l1=s. 0 sz.49 17T 1 1455, 0 - -
4s5a169. 0 Q4.0 17T = 1795, O 1654. 0 1TeEO. O
BEST1IZG. 0 SS. T 17T S 1504 0O 1051 . 0 1TSS, 0
125507. 0 b= P | 17T = 1149. 0 16=9. 0 186350
ZOSETO. O Q0. 4 17T = 15s=2=. 0 1729, 0 107=. 0
AEESS4. O Ta. O 17T = 14100 1516, 0 -
BEIEQSES. 0 eEQ. 0 17T = 1z27ToO. 0 1997T. 0 -
1045=1. 0O T=. 9 17T =2 1=S=5. 0 Z0o0o0. O
=Z2TSS546. 0 1.1 17T 1 1455 0 -
445132, 0 S51.5 17T = 1950, 0 1955. 0 -
E17T909. 0 (=1 ] 17T 1 10=Z<4. 0O —
SIS, 0O TS. 9 17T = 1915. 0 15939. 0
254795, 0 51.6 17T 1 1446, 0 - -
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Type 5 Radar Waveform_19

Buor=+t Pol=e l_—.l_lirp Homber of
l:.lz‘ii:;'_:et Width Cu=) {:]‘}:? gzzts per ([PRET—1 (o=) |[FET—ZF (a=s]) |[FET—3 (o=l
42439T. 0 TS, &8 17 E 1525, 0 1996, O -
SoETZEE. 0 =0, T 17 1 117=. 0 - -
BZEET. O EENE 17 = 1445, 0 1i1s0. 0 1497T.0
zEZ1eE. 0 B0 17 = 1470, 0 174=. O -
40Z927T. 0 =91 1T = 103z, 0 1946 0 1385, 0
ST4184 0 Ta 4 17 = 1150 0 1546 0 -
41819. 0 s6. S 1T = 1879, 0 19sz. 0 1886, 0
F1ZZRS. N0 a0, = 17 = 1334 0 1553 0 -
FEFAES. O sz s 1T 1 157T=. 0 - -
SEFSET 0 a7 = 17 = 1531 0 1Ons. 0 1221 0
ZOTES. O S4. @ 1T = 1303 0 1zEz. O 199s. 0
191341, 0 B9, 0O 17 = 1547. 0 10SE. 0 -
IEEELE. O EE. B 1T 1 1253 0 - -
S31183. 0 Sd4. 3 17 = 15sT. 0 1406, 0O 1356, O
TOZS40. 0 TT. 4 1T = 123000 1586, O -
1B9E36. O a4 17 = 1823, 0O 1700, O 1382, O
40054, 0 az. T 1T = 11=7.0 1514, 0 1az3. 0
Type 5 Radar Waveform_20
Bur=t Ful=e Chirp Hoamber of
Offset Width (as) Hidth Fuolses per (FRT-1 (ns) ([FRT-Z (us) |[FEI-3 (us)
(as) * b (MHz) Bur=st
5714340 51.1 g 1 1775.0 - -
1158T15. 0 87.8 g 3 17T37.0 1835.0 1629.0
254125.0 T4.9 g 2 1TET. O 1395. 0 -
5444250 TO. 1 g 2 1210.0 1555, 0 -
533275. 0 g6 4 g 3 1592. 0 1523.0 1745. 0
1125501. 0 Tr.9 g 2 1015. 0 1551. 0 -
218274.0 S04 g 2 1727.0 19530 -
SO09207. 0 54,4 g 1 1539.0 - -
TITI0S. O 96.0 g 3 1310.0 1945, 0 14z=. 0
10=T414. 0 S4. 4 g 3 1735.0 1595. 0 1430. 0
Type 5 Radar Waveform_21
Baorst Pl Chirp Huomber of
Off=zet s (as) |Fidth Pulses per |PEI-1 (us) |PRT-2 (us) [FRI-3 (us)
(u=) * kb (MH=z ) Bur=st
165759, 0 a38. 5 = 3 1211.0 138T.0 1990. 0
429196, 0 96. 0 9 3 1573.0 1927.0 1151.0
BE93526. 0 TE. B 9 2 1655. 0 1119.0 -
95TZ09. 0 96. 5 =] 5 1041.0 12430 1110.0
153535620 96. 9 9 5 11220 1955. 0 100z. 0
FQETOT. O 83. 6 =l 3 1156.0 1983. 0 1643, 0
EE13T3. 0 Eg8. 0 = 1 15960 - -
QZE3ET. 0 EZ. 1 = 1 14330 - -
1011Z26. 0 5T.8 9 1 1615.0 - -
F64556. 0 TZ. 4 =] =2 167T35.0 1=219. 0 -
BZT3S52. 0 S4.4 9 5 1375.0 1951. 0 1955. 0
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Type 5 Radar Waveform_22

Bar =t ol Chixp Huomber of
%E:Tet EEEEE e 1;;:? g:i::s per |[PRT—1 C(a=) |[PRET—Z (u=<l) |[PRT—3 (=<l
AT0108. O TE. S 19 = 10Z8. O 1saT. 0 —
STSSE. O EER:] 19 = 1157, 0 11zs. 0 1=sT. 0
191901, 0 as. 9 19 = 1S5S, O 1=44. O 17TES. O
ZETAOZ. O TE1 19 = 1o9s. 0 1as=. 0 —
ATZE51. 0O S0, 4 19 1 1749, O — —
19S10. O sE. T 19 1 1EZ5T. O — —
1849965, O s3. T 19 1 1363, 0 — —
FIO9ZET . O TE = 19 = 1674 O 1ass. 0 —
AS4145. O TE. S 19 = 17TS1. O 1198, O —
1915, O EEN=] 19 = 1080, O 1954, O 1TTZ. O
1aBZ23E. O a1, 6 19 = 1s0=. O 1965, O 1450, O
Za1301 . 0 sz B 19 = 1E681 . 0O 1S4s. 0 —
ATBTELIS. O S5, 4 19 1 1190, O — —
SS0TO0. O S0, T 19 = 1EST. O 17TOT. O —
1zETEE. O V.S 19 = 1a7v=. O 1453, O —
=T=as1 . 0 EERE 19 = 1ad4s. 0 1eaT. O 1417 0
415952, O 851.5 19 = 1197. 0 1128, O —
SEZ352. 0 sa. 5 19 = 101E. O 1eTZ. O 151 . O
111019. 0 TE. g 19 = 1443, 0O 1870, O —
SEESSO. O ES. B 19 1 1E=E. 0 — —
Type 5 Radar Waveform_23
BFor=st Pol=e l:]_:lirp Homber of
CE‘EE?et Width Cas=) '(;i‘-[;? gizis per |[FET—1 (o= FET—2 f(mx=] FET—3 f(m=s]
SOZ155. 0 B4 5 15 1 16535, 0 - -
BS1z01. 0 a3, =2 15 I 1485, 0 1838, 0 1215 0
116455, 0 a5. 0 15 S 1455. 0 1559. 0 1005, O
=ZgTZ==2. 0 S5, 1 15 ] 15604, 0O 1z00. 0 16351, 0
4TS1I6S. O S4. 5 15 ] 1Ti1. 0 145=2. 0 1054, 0
BEOS99. O T3. 9 15 = 1173, 0 1Zza7T.0 -
Q4104 0 a0, 5 1 b= 1z05. 0 15=z4. 0 157E. 0
=Z2TSZES0. 0 S5, 1 15 ] 1059. 0 1505, 0 1051. 0
4SSSE0. 0O S5.5 15 ] 1504. 0 1949, 0 16220
B3ISS0S. O 55. 5 15 1 1545 0 - -
Tig949. 0 TZ. 1 1 = 15=z9.0 1505, 0 -
ZSEZEa. 0 [=1= T 15 = 1459. 0 114=. 0 -
454540, 0O TO. 9 15 = 1z9z. 0 1595, 0 -
BlET4E. O 552 15 1 1492 . 0 - -
49E6Z=. O TT. S 15 = 17TsS2. 0 1401 . 0 -
=Z30195. 0 ST. S 15 ] 1654. 0 1549. 0 15120
Type 5 Radar Waveform_24
Baor=st Pol=e Chirp Homber of
Dffset Width O 2 WHidth Pulsex per ([PERT—1 (u=s) |[PRT-2 (us) |[PRT-—3 (us)
(o=) * - (MH=z) Bur=st
549249 0 SE.0 10 3 1504. 0 1034. 0 15355. 0
TIOOG4, O 93. 0 10 3 1941.0 1719.0 1414.0
Se440.0 SE.0 10 3 1925. 0 15320.0 17T35. 0
27T83T4. 0 T1.1 10 = 17T21.0 1050, 0 -
SzZ0150. 0 TE. T 10 b= 1166. 0 1T50.0 -
TEBZOS5Z. O 51.3 10 2 14380 1400, 0 -
BTZG. 0 T2 2 10 =2 1901. 0 1655. 0 -
245209, 0 59.6 10 3 18000 1120.0 1550, 0
490532, 0 == =] 10 1 15T=.0 - -
TIZEG0. 0 B3. 3 10 1 1994. 0 - -
aT4190. 0 TO. 2 10 = 105680 1893, 0 -
219115. 0 BS.T 10 1 1330.0 - -
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Type 5 Radar Waveform_25

Bar=t Pal Chirp Hamber of
Offset '.dfﬁ (as) |Fidth Fulses per |[FRI-1 (us) |[FRI-2 (us) |[FRI-3 (us)
(=) * = (MH=z) Bur=t
B14350.0 B9, 4 B z 14280 1966, 0 -
956490, 0 g4.6 B 3 1655, 0 1226.0 1096, 0
1260364, 0 TB. 5 B 2 1187.0 1247.0 -
252132.0 T2, T B z2 1224.0 1827.0 -
5T4200.0 g85.0 B 3 1920.0 1286.0 1159. 0
S9STET. O S56. & B 1 10290 - -
12195833.0 B9.49 B 2 18253.0 1447.0 -
2122760 =] I B z 183T.0 1934, 0 -
5355545, 0 54.7 B 1 1007, 0 - -
Type 5 Radar Waveform_26
Buor=+t Pal=a l:]_lirp Homber oif
l%igsset Width Coas) '(:;]I}:])l. gﬁzis per (FPRT—1 (o< FRT—2 (mx) FRT—3 (a=x]
453=41=5. 0 S0.35 15 1 1TSs0O. O — -
EE1T1I=Z. 0O =27, 4 15 = 19=7T. 0 108=. 0 1195, 0
S59S5. O TG. S 15 = 109z 0 1525, 0 -
2TS545. 0 B&. O 15 1 1857T. 0 — -
450120, 0 BS. T 15 1 1851. 0 — -
BEZZE1S. 0 =27T.8 15 = 1904 0 1255 0 1991 . 0
T4SOO. O B5. 2 15 1 1=3=21. 0 — -
255507. 0 TZ. B 15 = 157, 0 1957T. 0 -
437194, 0 T2, 1 15 = 140=. 0 1zzz2. 0 -
E139811 .0 BE1.7T 15 1 1z2ga. 0 — —
Sz4z22. 0 S0, 1 15 1 1430, O — -
234050, 0 5235 15 1 1199, 0 — -
413595, 0 59, T 15 e 1357T. 0 1z29=. 0 1T25.0
EaT1iTT. 0O E=. 0 15 1 1=11. 0 — —
299430 535 15 e 1335, 0 1805, 0O 1477T. 0
211476, 0O 53,14 15 1 192=. 0 — -
Type 5 Radar Waveform_27
Bur=st Pul Chirp Homber of
Dffset 'id:; (as) |Fidth Pulses per |[PRI-1 (us) |[PRI-2 (us) [PRI-3 (us)
(=] (MHz) Burst
TETO49. 0 51T 5 1 1495.0 - -
11483860 88,9 5 3 1709, 0 1036, 0 1425.0
15402.0 833 5 Z 10460 1611.0 -
378414.0 T1.0 S 2 1429.0 1785.0 -
T42264.0 554 5 1 1535.0 - -
1104950, 0 gl.2 5 2 1109.0 1427.0 -
14BTTOS. 0 T1. 4 5 2 1370, 0 1599. 0 -
334045.0 536 S 1 1661.0 - -

FCC ID: 2AXJ4RE500X Page Number: 248 of 291



\
M

"‘\’;«,“\M
m I‘ Report No.: 2102TWO0007-U3

Type 5 Radar Waveform_28
Baor=st Ful=e C]_lirp Homber of
DOEf=set Width C(a=) Width Ful=zexs per |[FRI—-1 (u=s) |[PRTI—2 (u=s) |[FEI—-3 f[(ux)
(a=) (MH=z) Burs=st
45535354, 0 T5.0 10 = 17040 1521. 0 -
TOSS4E. O B5. 6 10 = 1571.0 160z, 0 -
9459135, 0 sS0.9 10 1 171i0.0 - -
1923539, 0 52,1 10 = 1T55. 0 1T1S. 0 -
4535413, 0 994 10 ] 1491 .0 1821.0 19i10.0
ETSES0. O 54. 5 10 <] 1125.0 1451. 0 1071.0
219256, 0 B4. 1 10 1 1496. 0 - -
182556, 0 g83. 4 10 3 1z45. 0 1zZ91.0 137T.0
4040TS. 0 aT. 8 10 ] 14260 15435, 0 1094 0
BE4E351. 0 83.0 10 = 1774.0 1165. 0 -
SEBETI. 0 55,1 10 3 15343.0 1873. 0 1174.0
1533126, 0 B0. & 10 1 1462, 0 - -

Type 5 Radar Waveform_29
Burst Pul=e [:l_lirp Huomber of
DEf=et Width Cas) Waidth Pul=zex per |[FEI—1 (u=]) (PRI (uox]) |[FEI—-3 (uax)
{a=s) (MHz) Bur=t
I4B332. 0 59,4 11 1 18z0.0 - -
STO1SS. 0 55.0 11 1 1083, 0 - -
TIZIT2. 0 B1.0 11 1 1524. 0 - -
QSooT. O 93. 5 11 <] 15355, 0 1155. 0 1846, 0
315653, 0 5T.0 11 1 1989, 0 - -
S41402. 0 BT.0 11 z 1754, 0 1389. 0 -
TEIO3Z. 0 g4. 3 11 <] 1852. 0 1324. 0 1537T7T.0
ETTTE. O 51.6 11 1 15853. 0 - -
291113, 0 TO. 1 11 z 1074. 0 108z, 0 -
214546, 0 B2.9 11 1 2000, 0 - -
TIBSGE. O T9.8 11 z 1939. 0 1372, 0 -
40215, 0 TL.S 11 z 1892. 0 10z7.0 -
2Ez5854. 0 93.1 11 <] 1534. 0 1903, 0 1306. 0

FCC ID: 2AXJ4RE500X Page Number: 249 of 291



Report No.: 2102TWO0007-U3

Radar Type 6 - Radar Statistical Performance

Trail # 1=Detection Trail # 1=Detection
0=No Detection 0=No Detection
0 1 15 1
1 1 16 1
2 1 17 1
3 1 18 1
4 1 19 1
5 1 20 1
6 1 21 1
7 1 22 1
8 1 23 1
9 1 24 1
10 1 25 1
11 1 26 1
12 1 27 1
13 1 28 1
14 1 29 1
Detection Percentage (%) 100%
Type 6 Radar Waveform_0
Izt tansy |O o = =3 <
(5 ] Sa=1 =p=i=im) E=1=1=1"18 =1 =1=1] ==91
= =T1= =1 =1=1—1 S==4 S58S =447
N n =1 === Ss510 SEGS S&T1 S=0=
15 =1 = 1= = =S=TT SESAa == o SS=T
=i =1 === S4Bz SETS s55= Sa495
=0 =ST== SS0= S=51= == = =f=1=1m]
=0 554 5S564 S551= Ss541 S=95
== I=1=1=—%=] S=TS == =1 =559 S5
R =t=im L= =t=1m hr =g = ==7T1 SaZ=0
L 8= == N Y SS545 ==41 S&59T == ==
= I=1=1—m] S545 S=T4a SES5 =419
== =1=t=4= | S=4a49 L= == [=p 1= E ¥ Sas=
(=1 n ] Sa== === SE1s S44= S=T=
[ =1 = S4a4BS S=749a E==t=1= SBES=E 53=1
T =1=3=1-1 STOs =1 === sSS=s I=1=hr=]
= ==149 S540 Sa4s= ==1-< ===
E=im ] ==t I=1=1=1m] =1 =3=1=] =1 =1 § [=p=i=1m]
£ =4 [=argmim] S=51= E=t=3=1=] Sa0= S4a==
b= 1n ] s5=1 == A= L= e =t=d=]m] == ==
b= L= Ssa=a Sa00 SaAaAa S==1 S4TE
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Type 6 Radar

Waveform_1

I:oe  ansy |T e = = =

(5] =514 =S519 = g=1m] S=54 =S511
= s=T3a =STOT == =1=] =551 I=1=1=1-18
10 =1=1=1m) Sa4d5 [="r g = 1= S53=dJ1 S=3==
1= =r=4=1—1 =SToa S=5= =S4T sS=S4
=21 SEBEEGE SBEZS S514 5549 Sasd
== S510 =1=pcim] STl S99 === 8
= S550 5551 S445 S55= =414
5= S455 S540 =497 [=p=i=]m] SS9
“A N =t=3=]m] == =11 S555 S517T S5TE
B 8= = T=4=] =1 =1=4o 1 Ss==0 S=15 =340
=i I=1=3=hr sS=a= === S5S= S=g9=
== ==t S=T4a (=1 = =g =14 = =1=1={m]
[ =18} [=F=1=r S=TT =1=Rr 8 I=1=1 == STOo=
L= 1=3 S49= S454 S5=4 Ss5993 sS565
T S=5S I=t=3=1=1 I=1=1=1—1 S5T =t =118
= =451 =4a=9 SESE ==91 ===
E=1n] S54 =] == =S=5TT = 1=1=1 S=a=
=14 =1 == S=5T= == 1=1=1 I=1=1=1m] =471
=15} = = = =1 == === e =1 == S=0=
b= L= == b= Sa== S=g= =419 I=1=1=1r

Type 6 Radar Waveform_2

I:or mnsy |T i = = =

(5] I=t=1=1=] S55= S5 S5 Sa45=
= ===1 f=1 == =S4T I=1=3=1=18 SE555
10 535494 =t = = S5=7T1 S58556 5549
1= S5S555 ==t =1 =s=19 S445 S5T
= I=1=3=hr I=t=1=1—1 =1 = S44= Sa4g9=
=2 E=1=hra= =t T e 5545 S50 5525
=i =459 I=t=3=1=1 S5TT S455 S54
== 1= S5 =1=1=1m] =S=91 =1=1 == =r=4=1—1
e 1n =1 == S55TEG S514 5305 S04
L 8= =ST7TOoT STl S5aS S5=T =sS=5T=
=i S==1 S51= I=1=3=hr =1~ sS=5=
== S=0= === T8 SaSs =S4T =41
(=118} =1 =1=1—1 I=1=1=1_1 =497 =T11 = T=1=]
[ =14 =1 === [=1=pc1- 8 =Sa91 Sa0= Ss=a=
T =274 Sag= =S=07T =44= =az=0
= S4a45= 5354 [=1="1m b =1 === =R = =
E=1n ] == [=r=i=1m) =S=T4 == = S541
E=1 =4 =4a=1 f=e e ] = SaETS =1=1m =N =719
=15} === S==0 SE3=0 =1=1={m] == =1 =
b= 1= =111 I=1=1=1=1 SS5TS =SToO S5T1

Type 6 Radar Waveform_3

e ikt o a = = -

Toi =% (A=

[ n ] ==4a9 Sa== SSa= == m =] SETS
L= =450 =aS4a =549 L= = 1oy == 1=1m]
. =S5 =S=1= SIS0 SE5S =471
1= S4S=S S4aASS [=1=1=1T- 8 SaSS === 1
=21 S5355 5595 SBEZS S415 S=Z59
== Sq4=1 S54T =t T A= SS5E= === 1y
=0 S5=5 SE5SS =T14 =57 =400
== === = =t=d ~hm | L="Rr = b ==05 Ss5s01
<L S5TS S&17T =541 =&11 Sal1=
B =1 S53559 5515 E=r=a= 1= S4=1 S59=
=0 =S535= =S4=T SS55 SESE S53T5E
== === Sa441 =g = S=T739 =S=5=7T
(=1} =10 1 5545 5375 ST 55135
[ =1=1 S5== SaST S50l L= g SSOs
T S4S5 SaS=0 S==4 L="ar i § =a=1
T= SsS=g9 S0z S=a= So== SE9=
E=im ] Sa=1 =1 =1=hr S41= =571 Sa41
= 53596 S5=295 S=301 =1 === Sagaz
=1} =51 S5 SEIZE =551 Sa==
b= =4 S4=5= SaSS == =1=] =S=TT =497
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Type 6 Radar Waveform_4

Lize cmuzy |@ 1 = = -

(0} SEO= =Pt = S=as = =g | sS51%5
= SSO= [=1=hr= S5=4 = e ] Sq4==
. ==l Y S35 S5S= =S40 Sq45=
1= S&10 =s=91 =1=Jm =] =555 ===
=i =457 SS=4 =T14 SESS =1 =1—=d
== S=s55= =S53T= === === 1=% [=1=Tm b
= ==141 S540 S4=4 Sa== I=1=1=1=
== =4 S=59 =5=1 =1=]m[m) SSTS I=1=1=1-18
a0 =4=T =4as1 === L= Rt N Sa0O=
B 84 ==a1 =3=e9 =i =357 =47
=i =4 SOz SEO>= =10 = === hr
== ST Sa06 SB=4 S5855 S4as4a
(=1} =551 Sa41= ==t ] s=sa S=54a5
L= 1=4 L=ar = § =s513= =1=1="m] == m =] ST1E
g SE5TS =1="1m e 5545 f=pe = Y Sa4S0
T= SSO= =551 S=51 STOo= ==
i ST S555 =1=hr ==7T1 [=1=1C 88
E=1=4 S=Z5= =p=i=t= === 1m] =] S = == =1
=1} SSAa= Sa4= Sa9a1 =STaT SsSS==
b= =4 == 1=1m] = =11 sSaT= = = =401

Type 6 Radar Waveform_5

T:or T Oansa |O = = = <

(0} == = i =0 =g . L= S3565 == =1m |
= =SS S&a01 I=1=3=1=] =511 =1 ===
A0 SSES Sa0= SS9 == =1=1] =407
1= S550 S50 5597 5557 E=1="10
=i Sa== =1 = STOs =551 = T e
== =TaT SSTS SEST Sa=0 ==T1
=i SBTS 5297 =1 =1=0=) SES00 5515
=== =59 Sa4= === 1=1 ==l Y STOoO=
<5 SE=ETE Sa41 =T=4 STOo= S47ToO
B =1 55499 S5l S5415 S4a450 S5=Z6493
=0 ==7Ta SS04 = 1=1=1 S4S5 =497
== =S=5S0 ST=0 sSS54= === S=ToO
(=1} S=as S35 SBESE 55499 5713
[ =1=1 =499 ==t 8= == = SE4S I=1=1=%"1
T =SSTS SS5=a S==0 =547 I=t=1=1=]
= =450 =g e =445 =T1= S4a4s=
i SES5E ==d =31 S=a= =447 S419
L= 154 SaS= =1=1 = =sSS51= SE8= ===
L= 18} =SSAa= [ = =] = 1= =T13= =41=
b= =3 S5585 =1=1 == S3=01 [ == e | Sa03=

Type 6 Radar Waveform_6

I:oe taney |O = = = i

[ n ] SSa= SaS5 =1 =1 8 ==17T =S=TT
L= SSS5E L= = === 1=] L= e = Sa95
. ==91 SS== =519 Sa=5 SaESS
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Type 6 Radar

Waveform_7
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Type 6 Radar Waveform_25
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Product AX1500 Wi-Fi 6 Range Extender Temperature 27°C

Test Engineer Kevin Ker Relative Humidity 65%

Test Site WZ-SR2 Test Date 2021/05/08
Test Iltem Radar Statistical Performance Check (802.11ax-HE80 mode — 5530MHz) - Mode 3

Radar Type 1-4 - Radar Statistical Performance

Trial Frequency 1 detect ,0 no detect
(MHz) Radar Type 1 Radar Type 2 Radar Type 3 Radar Type 4
0 5491.0 1 1 1 0
1 5493.5 1 0 1 1
2 5496.0 1 1 1 1
3 5498.5 1 1 0 1
4 5501.0 1 1 1 1
5 5503.5 1 1 1 1
6 5506.0 1 1 1 1
7 5508.5 1 1 1 1
8 5511.0 1 1 1 1
9 5513.5 1 1 1 1
10 5516.0 1 1 1 1
11 5518.7 1 1 1 1
12 5521.4 1 1 1 0
13 5524.1 1 1 1 1
14 5526.8 1 1 0 1
15 5529.5 1 1 0 1
16 5532.2 1 1 1 1
17 5534.9 1 1 1 1
18 5537.6 1 0 1 0
19 5540.3 1 1 1 1
20 5542.9 1 1 0 0
21 5545.7 1 1 1 0
22 5548.5 1 1 1 1
23 5551.3 1 1 1 1
24 5554.1 1 1 1 1
25 5556.9 1 1 1 1
26 5559.7 1 1 1 1
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Trial Frequency 1 detect ,0 no Trial Frequency 1 detect ,0 no
detect detect

27 5562.5 1 1 1 1

28 5565.3 1 1 1 1

29 5569.0 1 1 1 1

Probability: 100.0% 93.3% 86.7% 83.3%
Aggregate (Radar Types 1-4): 90.8% (>80%)
Radar Type 1 - Radar Waveform
Trial Id %;::’ S PRI (as) | poyrer of :::;fﬁ"
(us) (u=)

Download 0 Type 1 1.0 576.0 9z 531TE. O
Dowrload 1 Type 1 1.0 918.0 ] 53244, 0
Download z Type 1 1.0 595, 0 L] 53222.0
Download 3 Type 1 1.0 878.0 B1 3555, 0
Download 4 Type 1 1.0 B7T5.0 T8 ErE34. 0
Download 5 Type 1 1.0 938.0 57 534B6. 0
Download & Type 1 1.0 T78.0 Ba SrO04. 0
Download T Type 1 1.0 516.0 BS 53170, 0
Download 8 Type 1 1.0 Ti8.0 T4 531320
Download g Type 1 1.0 516.0 10z BFE36. 0
Dowrload 10 Type 1 1.0 B9S. 0 T8 53045.0
Download 11 Type 1 1.0 g93.0 o4 SEEEE. 0
Download 12 Type 1 1.0 TEE. 0 BT 534860
Downlaad 13 Type 1 1.0 353, 0 BZ 93196.0
Download 14 Type 1 1.0 558. 0 95 53010.0
Download 15 Type 1 1.0 805.0 BB 53130.0
Download 16 Type 1 1.0 2308, 0 23 530540
Download 17 Type 1 1.0 1808, 0 33 E2995.0
Download 13 Type 1 1.0 2970, 0 15 534800
Dowrload 19 Type 1 1.0 840.0 ] E2920.0
Download o0 Type 1 1.0 1835. 0 33 53955. 0
Download 71 Type 1 1.0 1825.0 24 E2E25. 0
Downlaad 22 Type 1 1.0 2295.0 23 SETES. 0
Download 23 Type 1 1.0 2482, 0 oz 546040
Download 74 Type 1 1.0 1858.0 29 E3532.0
Download 25 Type 1 1.0 1512.0 35 52920.0
Download 25 Type 1 1.0 2197. 0 o5 54925.0
Download 27 Type 1 1.0 TO9. 0 TS 53175.0
Download 28 Type 1 1.0 1122.0 48 E3E56. 0
Download 29 Type 1 1.0 1323.0 40 52920.0
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Radar Type 2 - Radar Waveform

_ Radar S Tlen Humber of |Joveform
Trial Id Type 'iéld;.h PRI (usx) Fulses I(.::%th
us
Download n Type 2 3.1 169.0 Pl 43894, 0
Download 1 Type 2 33 200.0 26 Sz00. 0
Download 2 Type 2 21 159.0 24 3816.0
Download 3 Type 2 3.5 172.0 27 4644. 0
Download 4 Type 2 4.7 2230 29 B4ET. 0
Download 5 Type 2 3.6 216.0 2T a83z. 0
Download ) Type 2 1.8 201.0 24 4824, 0
Download T Type 2 3.4 165.0 2T 4536. 0
Downlaad a Type 2 4.4 197.0 28 5516.0
Download 9 Type 2 4.0 209.0 Pt 585z, 0
Download 10 Type 2 2.0 202.0 24 4545. 0
Downlaad 11 Type 2 4.7 213.0 29 B1TT. 0
Download 12 Type 2 2.3 195.0 25 4575, 0
Download 13 Type 2 2.9 2220 26 57T2.0
Download 14 Type 2 4.0 191.0 Pt 5345, 0
Download 15 Type 2 4.7 192.0 29 5565 0
Download 16 Type 2 3.4 226.0 2T Bi0z. 0
Downlaad 17 Type 2 1.3 154.0 23 3542.0
Download 15 Type 2 2T 174.0 26 4524. 10
Download 19 Type 2 2.9 151.0 26 3926, 0
Downlaad 20 Type 2 2.7 z11.0 Z5 SETa.0
Download 21 Type 2 4.5 162.0 P 4695, 0
Download 2z Type 2 5.0 210.0 29 A0S0, 0
Download 23 Type 2 3.4 194.0 27 S235.0
Download 24 Type 2 3z 2250 26 5850.0
Download 25 Type 2 25 183.0 25 4575.10
Downlaad 26 Type 2 4.5 203.0 29 S85T.0
Download 27 Type 2 2.0 190.0 24 4560. 0
Download 28 Type 2 1.8 153.0 24 3BTZ.0
Downlaad 29 Type 2 1.6 176.0 24 42240
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Radar Type 3 - Radar Waveform

8 Radar P'1_115e Homber of LeBienD
Trial Id Type 'il':l d;.h FRT (us) Fulses If::jgth
us
Download ] Type 3 g.1 Z6T.0 17 4539.0
Download 1 Type 3 8.3 381.0 1T B4TT. 0
Download 2 Type 3 T.1 Z00.0 16 3200.0
Download 3 Type 3 8.5 485.0 1T g8415.0
Download 4 Type 3 9.7 29z2.0 15 5256.0
Download 5 Type 3 8.6 349.0 1T 5933.0
Download 5] Type 3 6.5 316.0 16 S056.0
Download T Type 3 8.4 305.0 1T 5236.0
Download 5] Type 3 9.4 274.0 15 4932.0
Download g Type 3 9.0 256.0 15 46058. 0
Download 10 Type 3 T.0 275.0 16 4400. 0
Download 11 Type 3 9.7 443.0 15 Ta74.0
Download 12 Type 3 T.3 42z2.0 16 BTS2.0
Download 13 Type 3 T.9 337.0 1T 5T29.0
Download 14 Type 3 9.0 2358.0 15 42584.0
Download 15 Type 3 9.7 367.0 15 BEOG. O
Download 16 Type 3 g 4 227.0 17 3859.0
Download 17 Type 3 E.3 287.0 16 4592.0
Download 15 Type 3 T.T 223.0 17 3T91.0
Download 19 Type 3 T.9 280.0 1T 4TE0. 0
Download 20 Type 3 T.T 378.0 17 G426 0
Download 21 Type 3 9.5 211.0 15 3T98.0
Download 22 Type 3 10.0 496.0 15 g9z25.0
Download 23 Type 3 8.4 3Tz.0 1T B3Z4.0
Download 24 Type 3 8.z 244.0 17 4145.0
Download 25 Type 3 T.5 464.0 1T Tag8.0
Download 26 Type 3 9.5 41z2.0 15 T416.0
Download 27 Type 3 T.0 431.0 16 BE96. 0
Download 28 Type 3 6.5 285.0 16 4560. 0
Download 29 Type 3 E.B 473.0 16 TSEE. 0
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Radar Type 4 - Radar Waveform

) Radar Fuolse Humber of Waveform
Trial Id Type Hidth FRI (us) Pulses Length

(us) (us)
Download 0 Type 4 157 2BT.0 14 3T38.0
Download 1 Type 4 16.1 381.0 14 23340
Download 2 Type 4 13. 4 Z00.0 13 ZB00. 0
Download 3 Type 4 16.6 495.0 15 T425. 0
Dowrdl oad 4 Type 4 19.3 292.0 16 46720
Dowrdload 5 Type 4 16.8 349.0 15 5235.0
Dowrdl oad B Type 4 12.9 316.0 13 4105.0
Dowrdload T Type 4 16.5 305.0 15 46820. 0
Dowrdl oad g Type 4 18.5 274.0 16 4384.0
Dowrdload 9 Type 4 17.8 256.0 15 3540.0
Dowrdl oad 10 Type 4 13.3 275.0 13 3575.0
Dowrdload 11 Type 4 19.2 443.0 16 TOgs. o
Dowrdl oad 12 Type 4 13.9 422.0 13 2486.0
Dowrdload 13 Type 4 15.3 337.0 14 4T15.0
Dowrdl oad 14 Type 4 1T 7 2358.0 15 3570.0
Dowrdload 15 Type 4 19.3 36T.0 16 25Tz, 0
Dowrdl oad 16 Type 4 16. 4 227.0 15 3405.0
Dowrdload 17 Type 4 11.6 Z8T.0 12 3444.0
Dowrdl oad 15 Type 4 14.9 223.0 14 3122.0
Dowrdload 19 Type 4 15. 4 Z80.0 14 38E0.0
Dowrdl oad 20 Type 4 14.8 3T58.0 14 S292.0
Dowrdload 21 Type 4 15.8 Z11.0 16 3376.0
Dowrdl oad 22 Type 4 2000 496.0 16 T936.0
Download 23 Type 4 16.3 3Tz2.0 14 5205, 0
Dowrdload 24 Type 4 15.9 244.0 14 3416.0
Download 25 Type 4 14.3 464.0 13 G032, 0
Dowrdload 26 Type 4 18.9 412.0 16 B592.0
Download 2T Type 4 15. 4 431.0 13 S603. 0
Dowrdload 28 Type 4 12.8 285.0 13 3T05.0
Download 29 Type 4 12. 4 473.0 12 S6TE. O
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Radar Type 5 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
0 5530.0 1 15 5498.6 1
1 5530.0 1 16 5497.0 1
2 5530.0 1 17 5494.2 0
3 5530.0 1 18 5496.2 1
4 5530.0 1 19 5496.6 1
5 5530.0 1 20 5563.8 0
6 5530.0 0 21 5561.4 1
7 5530.0 1 22 5561.0 1
8 5530.0 1 23 5563.0 1
9 5530.0 1 24 5563.0 1
10 54954 1 25 5564.2 1
11 5498.6 0 26 5561.4 0
12 5495.8 1 27 5564.6 1
13 5496.6 0 28 5565.0 1
14 5497.8 1 29 5565.0 1
Detection Percentage (%) 80.0%

Type 5 Radar Waveform_0

Bor=+% Fol=e l:]_xirp Homber of

NDEfset Hidth C(a=) Width Fuol=ses per |FRET—1 (o= FPRET—2 (=] FPRET—3 f(o=])
(a=s) (MH=) Burst

B51T34. 0 T&. O 13 = 15950 1239.0 -
ABZ5. 0 TS. 35 135 = 1080. 0 16250 -
Z1z11=. 0 B34 135 1 165z, 0 - -
413336, 0 S1.0 13 2 17230 13540 -
BZ24565. 0 a5. T 13 e 15100 12800 19020
S32TTS. 0 822 13 = 17TOZ. 0 17310 -
156603, 0 B0 5 135 1 14320 - -
393539, 0 S0, 3 135 = 1057T. 0 18Ts. 0 -
S9593E. 0 g91. 5 135 e 147T3. 0 1951, 0 1303, 0
S08434. 0 a87.5 13 e 1037T.0 13920 1442 0
160937T. 0 62T 13 1 1TOS. O - -
SBTSEL1. O a95. 3 135 e 105z 0 14=4_ 0 13120
STELTT. O B&. 0O 135 1 1336, 0 - -
TSZOSZ. O T3.9 135 = 1537TS. 0 15EE. 0 -
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Type 5 Radar Waveform_1
Bor=st Pul=e Chirp Homber of
NDEff=et Width Ca=) Width Fuolsex per |[PRT—1 o= PRT—2 (a=) PRIT—3 (o=
(ax=) (MH=] Bur=+t
1=5919. 0 ST. 35 14 IS 11=z6.0 1549, 0 167T1. 0
S19zz0. 0 95. &5 14 IS 1475. 0 1010, 0 1159. 0
5130359, 0 [=10 -y 14 = 1541. 0 1=49. 0 -
TOTASG. O 55,7 14 1 1452, 0 - -
10z47Tz. 0 T1.S 14 =4 1047, 0O 1154, 0 -
Z2955Sz. 0 T4, 3 14 =4 1z97T.0 15=4. 0 -
439092, 0 T, 1 14 = 1873, 0 1122 0 -
BE0O354. 0 93,1 14 = 1534, 0 190z, 0 1T59. 0
TS40S. 0 99. 5 14 = 1Taz. 0 1s57T.0 1zz22. 0
271599, 0 ™. B 14 = 1T37T.0 114=. 0 -
455119. 0 TT. QO 14 = 1z47. 0 1=17T.0 -
BSST4S. 0 BS. T 14 = 1z07. 0 14«40 0 -
S4545. O 95, B 14 = 1s91. 0 1=15. 0 1=16. 0
Z4554T. O E3. = 14 1 1395 0 - -
4424410 BO. = 14 1 1021. 0 — -

Type 5 Radar Waveform_2
Buarst Pulse Chirp Hamber of
Dffset Width (us) Width Fulsex per ([FREI-1 (u=s) [PRI-2 (u=) |[FEI-3 (us)
(=) (MHz) Bur=st
SBTSTS. 0 55.1 =] 1 1354.0 - -
477960 BO.5 9 1 1415. 0 - -
3056689, 0 53. 4 9 5 1231.0 1451. 0 1771.0
S559511.0 g51.2 9 2 1273.0 1971. 0 -
534995, 0 55.49 9 1 1429.0 - -
aTig. o 99.5 =] 3 1017.0 1934. 0 1642. 0
27T3817T.0 T, 4 9 2 1055. 0 1022, 0 -
S53T3ST.0 S51.6 =] =2 1555.0 15z0. 0 -
S01047.0 T1.3 9 = 1TTGR. O 1555. 0 -
10BBSEG. O Bl1.5 9 1 154/ 0 - -
241392, 0 50.8 9 1 1617.0 - -

Type 5 Radar Waveform_3
Buor=+t Pal=e Cyirp Homber oif
Dffset Width o=} Width Fol=zes per |[FRET—1 (a=s) FRT—2 f(uas]) FRT—3F f(m=])
(o= (MH=) Bor =+
S4TZ49. 0 Bal.3 14 1 iezz. 0 - -
Sz5191. 0 T=Z. 1 14 = 1365, 0 1195. 0 -
TOSG&10. 0O ST. S 14 ] 1=z05. 0 119s5. 0 106z 0
145114 0 TS, S 14 = 15260 1T36. 0 -
SFE4Z1=.0 945,49 14 ] 11010 1z52. 0 1064 0
SOS564. 0 TG. S 14 = 1=59. 0 1Ti1. 0 -
BSSZ2as. 0 S9.0 14 1 1=Z03. 0 - -
1=z05549. 0 TS. B 14 = 14=z. 0 1990, 0 -
SI0E054. 0 TA. 3 14 = 15190 1555. 0 -
451 T35, 0 g5, 4 14 ] 1Tas. 0O 1T4=2. 0 15050
BE4351S5. 0 T, = 14 = 15080 1507. 0 -
9S590. 0O TO. 9 14 = 14350 155820 -
=2TS995. 0 S55.9 14 b 19zz. 0 1565, 0 1TeO. 0
451530, 0 o256 14 1 1TTZ. 0 - -
545495, O 545 14 1 1377.0 - -
TEESE. O S3.0 14 = 14060 1T840 -
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Type 5 Radar Waveform_4
Bor=1+t Pol = e Chirp Homber oif
DFFFfF=e% Wi At Coa=2 Wadth Folses pear FRT—1 =T FRT > o= FRT—3F =
[ ] CAH= Bor =+t
218573 O TS, B 19 = 1045 0O 1253 0O —
SeETaISsS=. a [= e =1 19 = 15290 1==1. 0 17T7TS. 0
SEEETS. O 539 19 1 1820. O — —
454110 TT.Qa 19 = 14460 14510 —
1972510 [= 1=, =1 19 = 17310 1=30. O 17350
S4Q==59. 0 a7T. 4 19 = 15740 1=17. 0O 1s=20. 0
sS03185. 0 TO. O 19 = 1027. 0O 1435 O —
ZESTIS. O S35 4 19 = 15240 11=3=. 0 12750
1TsSs9=. 0 TGE. 3 19 = 1576, O 179, 0O —
S3148=. 0 T, 3 19 = 114=_ 0O 197TsS. O —
485281 . 0 B4 0 19 1 1531. 0 — —
TST1.0O S5T.0 19 1 11=5. 0 — —
180155, 0O T1.5 19 = 1860. 0 1780, O —
S1=385. 0 B5. S 19 = 19160 1553 0 —
4EEST1. 0 [ST R 19 1 14140 — —
519546 0O s5. 9 19 1 1065, O — —
1411950 o= = 19 = 14=5. 0 1=Z958. 0 1T1i7T. 0O
293951 .0 TO. 3 19 = 10160 195s. O —
44TS50. 0 =] 19 1 1890 0O — —

Type 5 Radar Waveform_5
Fuoar=st P Chirp Homber of
Offset '?ﬁf; (a=) |Fidth Pul=zex per |[FPET—1 (u=) |[PRT—2 (u=]) |[PRT—3F C(a=x]
o= * o= [MH= ) Bor =1+
TiOTSE. O EERE! 15 = 1014. 0O 11930 1745, 0O
148071, 0 5. = 15 1 1944 0O — -
SFETL9.0 TO. 9 15 = 1537. 0 1554, 0 -
sS0T1SZ2. 0 855 15 = 1741. 0 1430. 0 1579, 0O
EQOEZE. O S0, 1 15 1 1844, 0O — -
123745, 0 S4B 15 1 1507, 0 — -
05450, 0 ES. O 15 1 1135. 0 — -
4546816, 0 S4. 0 15 = 1731, 0 17T1E. 0O 1515. 0O
EEBSIZ1. 0 BEX. 9 15 1 1559, 0 — -
101209, 0 TE. 9 15 = 1957. 0 iz11.0 -
zZgl1as0. 0 9. T 15 <] 13660 1185. 0 1531. 0
ABESZ1. 0 EEW= 15 = 1849, 0O 1839, 0 1z05. 0
BE4433T. O TT. B 15 = 1513 0 1859, O -
TETTT. O 4.5 15 = 1BT5. O iz0i. 0 1439, 0
ze0s40. 0 EE. 4 15 1 1897. 0 — -
441082, 0 Q1.9 15 = 1036, 0 1188, 0 107TE. O

Type 5 Radar Waveform_6
Bar=t Chirp Hoamber of

Ful=se =
Dffset . Tidth Fuolses per [FET-1 (u=s) ([FRT-Z2 (ns) |FEI-3 (ux)
Hidth (u=)

(as] (MHz) Bur=t
995929, 0 aT. 8 g 3 1595. 0 1175. 0 16TE. O
QOTESE. O ET.3 g 2 104350 1023. 0 -
380199.0 g84.5 g 3 1646.0 1935. 0 1952. 0
BTZ123.0 B2 2 g 1 1561.0 - -
95312T. 0 B4.0 g 1 1132.0 - -
55016.0 52.0 g 1 1257.0 - -
34562T. 0 544 g 1 1632. 0 - -
B3EG1S5. 0 51.8 g 1 1001.0 - -
926955, 0 Ed. & g 1 1592. 0 - -
19207. 0 BEZ. 8 g 1 10520 - -
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Type 5 Radar Waveform_7
Bor=+% Pal=c l:]_:lirp Homber of
Off=et Hidth C(o=) Width Fuol=se=s per |[FRT—1 f(a=) |[FRT—2Z (a=) |[FRT-—3 (a=s)
(a=x) (MH=) Buor=t
ZOB3sT9. O Sz.0 14 1 1759, 0 - -
400282, O 541 14 1 11E7. 0 - -
S93T19.0 B2 4 14 1 1577.0 - -
TSET1IS. O Sz.1 14 = 1155. 0 1045 0O -
15=164. 0 TO. 35 14 = 15550 1572, 0 -
SITSO09T. 0 TS. T 14 = 1975, 0 1995, 0 -
SESSO9. 0O BET.9 14 = 19360 1545 . 0 -
TEOS11. 0 Q0. 5 14 3 1692 . 0 11250 15320
155742, 0O 5.4 14 1 1513, 0 - -
F51455. 0 Tr. G 14 = 1945, 0 16356, 0 -
S45TES. O ST.T 14 1 1940, 0 - -
TIE410. O a5, 1 14 b 1531. 0 1555, 0 19950
1=4954. O 53. 8 14 1 10630 - -
IZ2TSET. O BT. 4 14 =2 197T.0 135350 -
SZOS50. O T3. B 14 = 15674, 0 1564, 0 -

Type 5 Radar Waveform_8
Boar =t el Chirp Huamber ok
DEfzet Wridih Cu=) |HFidth Pulzex per (PRT—1 (a=) |[PET—2 (a=) |FRAT—3F C(a=)
Cax) (AM=) Buoar st
Sasoss. O BS54 15 1 1S90, 0 — —
aza40. 0 ERE! 15 1 1597, 0 — —
253TOZ. O S4. 4 15 1 1s08. O — —
A1 Z406 0O ST S 15 = 1523 0 10S4 N0 1ans. 0
ISicgci=tcE W] S, = 15 = 2000, O 1407. 0 101=. 0O
TEETS. 0O E] 15 = 189S 0 1=ES. 0 1B=E. 0
ZEA0684. O Bz, = 15 1 1189. 0 — —
SAsSs0S5. 0 S50 15 1 1443, 0O — —
SSaSES. O TS, 0O 15 = 194z 0O 19o=a. 0 —
SzT41. 0 BE. 4 15 1 1839, 0 — —
Z1E=01. 0 a1l & 15 = 1491 0 17100 101&. 0
STESTS. O =TT 15 1 1154. 0O — —
SE3EO58. O S5, T 15 1 1z1z. 0 — —
SzTO4. 0 EENE 15 = 180=. O 1820, 0 1806, O
1asEs9. O Eli=] 15 = 1453, O 17TE0. 0 1481. 0
EEET= e S0, = 15 1 1504, 0 — —
S1e300. 0 =2==] 15 = 11=0. 0 1072, 0 —
1=aTo. 0 T1. 1 15 = 1535 0 1941 0 —

Type 5 Radar Waveform_9
BFor=s+t Pal=e l:]_:lirp Homber of
Off=et Widih C(a=) Widti Pul=s=es per |[FPET—1 f(o=s]) |[PERT 2 (o=s) |[FPET3F C(oas)
Ga=2 (MH=1 Bar <t
15598z, O ST. 4 17 = 1S5168. 0O 1353, 0 107T. 0
S55E3T. O sT.5 17 1 1121.0 — —
sSzsasl. 0O == ] 17 1 1azs. 0 — —
BEQSSEZ. O TL. S 17 = 1545. 0 1225, 0 —
183330, 0 Ss1.= 17 = 1337T. 0 11s7. 0 —
S34E55. 0 s55. 8 17 1 17T43. 0 — —
SOSETS. O == =] 17 1 130, 0O — —
ETASZ6. O TE. T 17 = 1073. 0 17Tz1.0 —
141599 0O [S1-=] 17 5 1040 0 1984 0 1590 0
S1E3TT. 0O Ta. o 17 = 1910, 0 179, O —
452490, 0 S5. T 17 = 1453. 0 1043. 0 1443. 0
BSZEE0. O sS4, 1 17 = 1953, 0 1199, 0 15270
1=Z09z4. O ag. T 17 = 1594. 0 1891.0 1152. 0
ZazE1s. 0 B4 17 1 149=. 0O — —
ABZE15. O BT. 1 17 = 1005. 0O 1TEZ. 0O —
EZOEDT. O Sss.T 17 = 174, 0O 1851, 0O 17TST. O
100334, O s0. 8 17 1 13168. 0 — —
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Type 5 Radar Waveform_10
Burct Pul=e Chirp Homber of
Dff=sat Width (as) Width Fulzexz per (FRI-1 (us) (FRT-2 (us) (FRI-3 (u=x)
(a=) (MH=z) Bur=t
415455, 0 a95.9 =] 3 1173. 0 1230.0 18393, 0
ESzZ045. 0 100, 0 =] 1T35. 0 1019. 0 1496. 0
947965, 0 B4. 6 9 1 152T.0 - -
122646, 0 T9. 9 =] 2 1TOE. O 1113. 0 -
3E6z25.0 TB. 3 9 z 1551.0 1569. 0 -
E49140. 0 59.5 =] 3 1911.0 1362.0 iTig. O
9130060 g96. 1 9 3 1585. 0 1401. 0 1415. 0
9oo1T. 0 ST. 4 =] 3 1359. 0 1544. 0 111z. 0
354524, 0 ES. B =] 1 1322.0 - -
B1T439. 0 TG, T 9 2 1885. 0 1501. 0 -
551932, 0 T1.0 =] 2 161&5. 0 1074. 0 -

Type 5 Radar Waveform_11
et Ful = T Hohes ;efr PRET -1 C(a=x) |[PRT 2 C(a=) |PRT-3 Ca=xl
Coa=2 Widerh Cas=¥ | gaw.y Bor =t
=@E91. 0 sa. = 19 1 1196, 0 — —
1E5aaz. 0O a1, =5 19 = 1402, 0 1azs5. 0 1Z00. 0
SmEEEa. 0 I 19 = 1z21. 0 1522 0 —
4qns=a. 0 TE. 9 19 = 1347 0 1a02. 0 —
1as07T. O sa. T 19 = 115=. 0 1155, O 1117.0
1BES13. O Te. Q 19 = 1596, 0 1ass5. O —
Zz0142. 0 EE. S 19 1 1574, 0 — —
4TzZaSd. O sa. s 19 1 1512 0 — —
BErsS51. 0 == 19 1 1456, O — —
147637 0 =21.49 i R=1 b= | 1596, 0 1S5S, 0 1510. 0
SO0TET. 0 Ta_ 4 19 = 17Tea. 0 108 0 —
4SzZT1. 0 as. a 19 = 1ZE83=. 0 1170. O 17Oz, 0O
04370, O Te. = 19 = 1E52. 0 1739, O —
1zasa0. O ss. 0 19 1 1633, 0 — —
ZS1445. O a9, T 19 = 1589, 0 1157. 0 1194, 0
43mE151. 0 53,5 19 = 1=19. 0 17S0. 0 15B5. O
SSEST4. O 9. 4 19 = 1454, 0 17TaE. O —
1103=4. 0 an_ 9 19 =) 1as3. 0 1003 0 1754 0
=RIZ10. 0 eE. o 19 = 1as0. 0 1213 0 —

Type 5 Radar Waveform_12
Bar=st Pul Chirp Homber of
Offset width (uz) |Fidth Pulsex per |[PET—-1 (u=) |[PRI—Z (usz) [FPET-3 (ua=)
(as) * = (MH=z) Bur=t
B59355. 0 T5. 2 10 = 1051. 0 1507. 0 -
S9E956. 0 a0. & 10 3 19240 1301.0 191z2.0
1456635, 0 TO.0O 10 = 1495. 0 1637T.0 -
3IETETE. O 95, 4 10 3 1030, 0 1177.0 1353.0
B3I0542. 0 51.0 10 1 1025. 0 - -
STZ451. 0 S50.5 10 1 1421.0 - -
116035, 0 S4. 4 10 1 1575, 0 - -
SI5E9TT. O 91. 3 10 <] 1955. 0 1416. 0 1870, 0
EOOSZ24. 0 E1.0 10 1 1315.0 - -
S41430. 0 B5. 1 10 = 1455, 0 1399. 0 -
SEZ45. 0 B4 T 10 1 1521.0 - -
SETZ4T.0 S4.1 10 ] 12060 1852. 0 1972.0
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Type 5 Radar Waveform_13
Buor=t P Chirp Homber of
Offset '?ﬁf: Ca=y |Hidth Pulse= per ([PEI—1 (u=) [PRT—2 (u=]) |[PET-3 C(ux)
(ax) * = (MHzx ) Bur=zt
AGETES. O BE. 1 1z 1 1TES. O - -
BOSO0S5. O Ta. 9 1=z = 1959, 0 1545, 0 -
4G155. 0 =Ta il ] 1z b 1548, 0 1119.0 1954 0
255409, 0 BT.S 1z = 1S7T3. 0 1465. 0 -
4BZE0Z. O a5 1 1=z e 1151.0 1386. 0 11550
ETOT4AS. O E0. S 1z 1 1709, 0 - -
ZETaAZ. 0 B1.T 1=z 1 1244 0 - -
ZEa549. 0 =1 1z b 1931.0 1TTS. O 1351.0
AZBAGS. O T2 8 1=z = 1z20.0 19680. 0 -
B43155. 0 at.0 1z b 1575, 0 1TEE. O 10689, 0
S52945. 0 sT.2 1z 1 14235, 0 - -
204410, 0 TE. O 1=z = 1819.0 1z82. 0 -
412108, 0 =5, T 1z 1 1525, 0 - -
B19025. O T1. S 1=z = 1056, 0 1490. 0 -

Type 5 Radar Waveform_14
Buor=+ Pol=a Chirp Homber oif
DEf=z=et Wided O 3 Width Pul=e=s per |[PREI—1 Ctm=] PREI—Z2 (oax] PREIT—3 C(Coax]
o= * = (FAH=] Buor=+t
B31Z230. 0 541 16 1 1=20. 0 — —
1459=0. 0 SGS. 3 15 S 1557T. 0 1155, 0 1515. 0
F1TE2TI. 0 TL. S 16 = 1966, O 1900, O -
A4ST1Sz2. O TG. T 15 = 1TSS, 0 1175. 0O —
eEEO0Z05. O 559 16 1 1z295. 0 - -
1zl 0 TE. T 15 =2 19=E. O 107=. 0 —
pl=lot o S | as. 5 16 = 1959, 0 1ez29. 0 1255, 0
4BEO096. O Q3.3 16 = 1=4=. 0O 1825 0 1439 0
BI91=S. O S0, 5 15 1 15=9. 0 - -
105145, O S0, 4 16 = 18535, 0 1834, 0 -
Z27TS195. 0 (== =3 15 =] 19as. 0 i19=. 0 1055, 0
445874, O Qs 5 16 = 1255, 0 1405, 0 1045, 0
Bl17TZ11. 0 BT, 41 15 =2 10=1. 0 1171. 0 —
S4zBe5. 0 TE. 1 16 = 11=7T. 0 13250 -
2542935 0 842 16 = 1181 . 0O 1417 0O 1483 0
AZ4165. O [=t=T =1 15 S 1S0=. 0 1471. 0 15357T. 0
S9TO=4. 0O 555 16 1 1335, 0 - -

Type 5 Radar Waveform_15
Bor=+t Pl = Chiryp Homber oif
DFFFfFs<et Wi At P Wa dti Polse=s per FRT—1 =2 FRT > o= FRET—3F =2
o= M=) Buor=+t
SE405. O 1.5 19 = 1=Z17. 0 1=2=7. 0 17Ta7T. O
ZOSa=S9. O Q2S. 0 19 = 1=Z11. 0 1=z9=. 0 1=391. 0
SE=EZZS0. 0 =sT. 7T 19 1 1==S=. 0 - —
S1l4a909. 0O 55,3 19 1 1T7=9. 0 - —
STS10. 0O [=1=JN=1 19 1 15550 - —
1=599=7T. 0 E=1= 3 Y 19 = 1==2=.0 1250 1=7T7.0
EZ41=23=. 0 g0, & 13 = 16E==. 0 1557T. 0O 1174. 0
49590=. 0O 545 13 1 137oO. 0O — —
15964 O T3, 0 13 = 17240 1225 0 —
17T1S47T. 0O =5T. B8 19 1 1411._. 0 - —
SES0OSS. 0 a5, 5 19 = 19510 11e=. 0 14590
A4TS1=9. 0 940 19 = 1=09. 0 1514 0O 15=7T. 0
1.0 S1. = 19 = 17TS1. 0 1z45. 0 —
152155 0 == 4 19 = 1T==.0 1TsE. 0O 14=4. 0
S0q4955. O 94 1 19 = 1=04. 0 10=4. 0 1007. 0
4565315 0 [=1=1 =1 13 = 17753 150 O 1=Z9=. 0
BO9=255S. 0O T, B 13 = 15S7T. 0 1s82. 0 —
1=Z=5=1. 0 98 . T 19 = 117T=_. 0 153=sS. 0 19=5. 0
ESETTE. O [=1 = Sy 19 1 19890 - —
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Type 5 Radar Waveform_16

Bor=+%t Fal Chirp Homber oif
Off=at =3 df]‘i (a=) |Hidth Ful=ze=x per |[FRAT—1 f(u=s) |([FRT—Z (o=} (FRT—3 (ua=)
(a=] * — (MH= Bur=+t
SSESET. 0 5. S 14 = 1855, 0 1102. 0 -
TASS15. 0 S4. 3 14 = 1Z214.0 1623, 0 1013, 0
146156, 0 B2 1 14 1 1B6E. O - -
SFESS04. 0 a6 1 14 I 1830, 0 1915. 0 1110. 0
S31509. 0 7.7 14 = 1452. 0 1105, 0 1939. 0
TESSES. 0 BT. 2 14 = 1917.0 1549, 0 -
1Z2Z062. 0 a3 14 = 1Z251.0 1930. 0 -
15989, 0 ca.S 14 1 1S63. 0 - -
SOSSS0. 0 TS, 3 14 = 1845, 0 1071.0 -
TOZETT. 0 S1.6 14 1 1299, 0 - -
QE0SE. 0 a5,z 14 = 1564, 0 1541. 0 17a7.0
Za0E40. 0 85T 14 = 1S60. 0 1514. 0 1974. 0
AGE044. 0 B1.2 14 1 1095, 0 - -
BTE419. 0 a7.2 14 = 1564, O 1517.0 1994. 0
T4394. 0 Q1.5 14 = 1647.0 1035. 0 1265, 0
Type 5 Radar Waveform_17
Bur=st Chirp Homber of
Fulxse .
Off<et . f1dth Pulses per |[PRI-1 (u=) (FRI-2 (us) |[FRI-3 (us)
¥idth (as)
(a=) (MHz) Burst
S03395.0 B5. 4 & 1 1734.0 - -
SBSETI. 0 T8.0 & Z 15832.0 1500, 0 -
1229973.0 509 & 1 19470 - -
a5244. 10 B3.2 & 1 1956, 0 - -
457640, 0 g5 2 3] 3 1570. 0 1345. 0 1166, 0
S2ERaR. 0 1.8 3] 1 1223.0 - -
1184793. 0 g1.2 3] 2 1153.0 1304.0 -
S0471.0 T2.1 3] 2 1525. 0 1012.0 -
Type 5 Radar Waveform_18
Buour=st Fal Chirp Homber of
Off=et '.df; (ax) |Width Ful=es per |[PRT—1 (u=) |PRI—2 (us) ([PRI-3 C(us)
(ax) * = (MH=x] Bur=t
2541535, 0 53.0 11 z 1855, 0 12z4.0 -
ATTEDZ. O 89,0 11 z 1267.0 1163.0 -
TO190S. O 51.0 11 1 1090, 0 - -
3529.0 S4.5 11 1 1TS2.0 - -
ZERTEL. O 5. 4 11 z 1464. 0 1079.0 -
14SEES. O aT. 1 11 I 1937.0 1515, 0 1808, O
BTZ419. 0 5. =2 11 I 1405, 0 1042, 0 1299.0
597999, 0 53.5 11 1 1065, O - -
195730, 0 5T.5 11 I 129z.0 187T9.0 1932.0
AZZERS. O TS, 4 11 z 1455. 0 1039. 0 -
B4S239. O 85,0 11 z 1865. 0 187T9.0 -
SEQTSZ. O BE. 1 11 1 1TTT. 0O - -
1T1S49. 0 TL.2 11 z 1150. 0 1044. 0 -
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Type 5 Radar Waveform_19
Buor=st Pual Chirp Homber of
Offset SR it (a=) |Hidth Pul=e=s per |PREI—1 (u=) |[PRT—2 (=) |PRI—3F (u=s)
(o= * i (MH= ] Bur=+t
ZIEEEO4. O AT 1=z = 1385, 0 1485. 0 -
ST4S9T. O =0.9 1z 1 1zz9.0 - -
TG1S42. 0 TO.1 1=z = 12350 1025. 0 -
153566, 0 Q1.1 1z b 1811.0 1TEZ. 0O 18130
40426 0 S6. T 1=z e 1500, 0 1932, 0 1041.0
545439, 0 TE.Q 1z = 12640 1345. 0 -
TSEETS. O Bz. 2 1z 1 1494. 0 - -
108607, O Sz2.9 1=z 1 1059, 0 - -
Z1ET1S. 0 TO. S 1z = 1450, 0 1008, O -
SEES05. 0 TZ.0 1=z = 1779.0 1825. 0 -
TEESS2. 0 g4,z 1z b 1530, 0 1035, 0 15420
SS03T. 0 5B 5 1=z 1 1000, 0 - -
259582, 0 9.8 1z b 1066, O 1447.0 17150
498945, O 85,0 1z = 1431.0 1933.0 -

Type 5 Radar Waveform_20
Bur=t Pal Chirp Homber of
Off=eat '-df; (a<) |Fidth Pulse= per ([PERT—1 C(u=s) |[FPET—2 (ux) |[PRI-3 C(u=)
(ax) * = (MH=zx] Bur=zt
TEOOSS. O BE. 0O 11 1 1295. 0 - -
B1GB31.0 85. T 11 b 19z0.0 1TET. 0 1037.0
255403, 0 65, 4 11 1 1374.0 - -
SOSETS. 0 55,4 11 1 1S686.0 - -
TIZBTT. O B4, 3 11 1 11534.0 - -
F4z168. 0 85,4 11 i 1255.0 1357.0 1851.0
EETES1.0 62,1 11 1 1503, 0 - -
450805, 0 Ta.z 11 z 1254.0 1Z45. 0 -
TO4324. 0 69.0 11 = 1070.0 11z4.0 -
ETE4. 0 s5.8 11 i 1T1S.0 1548, 0 1409. 0
Z3I0Z17.0 BZ. 3 11 1 1836.0 - -
453912, 0 sa.9 11 1 1297.0 - -
BTTZ231.0 BZ2. 5 11 1 1826.0 - -

Type 5 Radar Waveform_21
Bor=s+%t Puol = Ci!xirp Homber of
EE‘E:?et Widri Ca=2 'I'(;]d[;:;n gﬂ::s o ex FHEIT—1 o= PRI —2 o= FEIT—3F o=
El4d44=S9. 0O SIS = 15 = 13S7T.0 1S5S4, O —
135105, 0 aT. S 15 = 149=. 0 107s. O 15354. 0
Z91s557T. 0 5= 4 1= 1 1Z52. 0 — —
444155, O 55 3 1= 1 1&es0. 0 — —
S94=-55. 0 95, 3 15 = 1557T. 0 1095 0O 1796, 0
1195035 0 T1L. 0O 15 = 12720 1541 0O —
ZT=E2sz2. 0 o 15 = 1105, 0O 1151, O —
A4Z=Z1=4. 0 S5, 5 15 = 19S7T. 0 1854 O 1=Z5Sa. 0
STES=Z0. 0 8BS, 1 15 = 1521 . 0 1744, O —
1007T4S. O SO, S 15 = 170, 0 1516, O —
ESS=Z0s. 0 T=E. 1 15 = 1=Z19. 0 1Ts=. O —
40T 0OsS. O 51. 5 1= 1 1=3=5. 0 — —
sSss519. 0 TS. 0 1= = 1==0. 0 1144 O —
S1957T. 0O B5. 3 15 = 1242 0O 1543 0O —
34265 0 59 1 15 = 16000 1514 0O —
SFSTS9O. 0O 5= = 15 1 140, 0O — —
SE3TS=S4. 0 27T. 1 15 = 1827, 0 1S7T7T. O 1TES. O
ES1S9. O B5. S 15 = 1904, 0O 1095, O —
Z1S33E68. 0 25, 1 15 = 1604 0 1003, O 1=Z7Ta. 0
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Type 5 Radar Waveform_22
Bor=+ FPal == C]_:nirp Homber o
E;‘E::Tet Wadri Ca=2) 'I'(;ii.[:?. ;ul::s o ex FRT—1 o= FRIT—=2 o= FRT—3 o=
SAag=S9. O TS, & =0 = 1209 0O 198 0O —
“Ag4a9=T . O T2, 1 =0 = 1191. 0 1147. 0 -
a4zZ165. O 9.1 =0 = 1S40, 0 15655, 0 —
157T5S1=. 0 ES. = =0 1 1=Zzea. 0 — —
SEZ1a5=. 0 T1. 4 =0 = 14==. 0 17T47T. 0O —
ATESST. O TO. 3 =0 = 1099, 0O 1SS9. 0 —
=Z4419. 0 S35 6 =0 1 11Ss=. 0 — —
165994 0 TT. S =0 = 1511 .0 16Sa. 0 —
Sl4as=9. 0 [=3=l i =0 1 1==5. 0 — —
ASg9TS0O. 0O SO0 = =0 1 1854 0O — —
e494. 0O 0.9 =0 = 1S3=65. 0 1Z2S1. 0 15=1. 0
1S1031. 0 =556 =0 = 1TSS 0 1=Z9d. 0 10==_ 0O
=ZgSsSi1o. 0 TS, S =0 = 1504 0O 1TES. O —
A40SO9. O TE. T =0 = 1201 . 0O 1905 O —
SoSEoEE. O 54, 4 =0 1 1TSe. 0 — —
13335510 Tal 1 =0 = 15550 15=4._ 0O —
ZEZTO05E. O =55 = =0 1 1=85. 0 — —
AZSSTO. O T, = =0 = 1170 1055 0O —
SES9ST. 0 (S 1= =0 1 1794, 0 — —
115154 0 h=1m =] =0 = 1T==_ 0 1TSS 0 17Tas. O

Type 5 Radar Waveform_23
Bor=+t » Chirp Homber of
Off=et '?ﬁ:; (a=) |Hidth Pul=z=ex per |[FPRI—1 C(u=) |[PRI—2 (o=) |[FPRT-—3F (ua=x)
(o=} * i (MH= Buor =t
SF4T405. 0 S55.9 14 < 117T3. 0 1114. 0 1315. 0
S41232. 0 9.5 14 = 137T5. 0 1230, 0 -
TIF4841. 0 sz.2 14 = 1585, 0 1020, 0 -
130329, 0 95,0 14 = 1473, 0 1z28. 0 1701, 0
FZA453. 0 =ST.3 14 1 1453, 0 — -
S18154. 0 Q4.4 14 = 1821. 0 1002, 0 1805, O
T1159s. 0O 5B, 8 14 1 1714. 0 — -
106501 . 0 =594 11 3 1259. 0 1641.0 1949. 0
FO00SS. O == 11 = 1529. 0 136T.0 -
492327, 0 a3.0 11 3 1523. 0 1398, 0O 1725. 0
ESESEd. O TS. Q2 11 = 1457. 0 1835. 0 -
SZazs. 0 TZ.0 11 = 19TE. O 1130. 0 -
ZTEQSS. O == 11 = 1921.0 1812. 0 -
4TOE4S. O Bd. 3 11 1 1115. 0 — -
BEZ4ASZ. 0O S0. 3 14 = 1547. 0 1B33. 0 -

Type 5 Radar Waveform_24
Buaoarct Pal=e Chirp Houmber of
DFfFfcet Width ¥ Width FPulsex per |[FRT—1 (a=x] PRI—2 f(a=s] FEI—3 f(ax=x]
(o= * i (MH=J Bur=st
={=Tulul=300] S53.5 13 = 1126, 0 1210, 0 1730. 0
ZEzsR3. 0 S4.0 13 1 1824, 0 — -
445850, 0 sz.8 13 = 137TE. 0O 1704, 0 -
EZTTOS. O S4.1 13 = 16T2. 0 1511. 0 1480, 0
52220 55,4 13 S 1586. 0 1850. 0 1754, 0
ZEE541. 0 S9. T 13 < 1445. 0 1141. 0 137T3. 0
4z1114. 0 a5, 3 13 S 1&50. 0 1493. 0 1135, 0
B1BS5351. 0 B1.1 13 1 1291.0 — -
114935, 0 S55.3 13 S 1359, 0 157TZ. 0 1146. 0
Z04TES. O TT.3 13 = 17T1Z. 0 1437. 0 -
FATOLE. O aT. 3 13 = 1821.0 1634. 0 1TZE. 0O
Sa0312. 0 a5, 3 13 = 1497. 0 1504. 0O 1469, 0
TS4535. 0O T4.9 13 = 1352. 0 1815. 0 -
1213530 BO. S 13 1 1302, 0 — -
ITISSZ. 0O 9.8 13 3 1145. 0 1B0S. O 1190. 0
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Type 5 Radar Waveform_25

Barst Pul Chirp Hoamber of
Offset Width (uaz) |Fidth Pul=sex per |[PET—-1 (u=) |[PRI—Z (usz) [FET-3 (ua=)
(a=) * — (MHz ) Bur=t
Tii401. 0 B63.9 10 1 1057T. 0 - -
9518TE. O TS5.9 10 = 1452. 0 187T.0 -
196636, 0 S51.4 10 = 1275.0 1700, 0 -
435303, 0 T5.9 10 = 1532. 0 1770, 0 -
BS1Z24.0 BZ. 2 10 1 1555. 0 - -
5405, 0 B0. 1 10 1 1525. 0 - -
1BEE34. 0 95. 9 10 ] 1274.0 1333. 0 1305. 0
403515, 0 51.2 10 = 1530.0 1501. 0 -
ES155T. O 5T.3 10 1 13100 - -
S91561. 0 Tr. 0 10 z 15600 1319. 0 -
137306, 0 B4.0 10 1 1232.0 - -
S3TI9BZS. 0 B4 = 10 1 1004 0 - -

Type 5 Radar Waveform_26
et Ful=c e R ;fr PRET -1 C(a=x) |[PRT 2 C(a=) |PRT- 3 Ca=l
o= Width Co=Y | gywe Bar==t
Sazi1a0. 0 sa. a3 15 1 1593 0 — —
S45113. 0 ee. 0 1= 1 14410 — —
ETTOS. O T, & 1= = 1z3E. 0 1116. O —
z19s12. 0 s, 9 1= = 12687, 0 1915. 0 —
STISOS. 0 BIS. T 15 1 136500 — —
SzeoSd. O B4, S 1= 1 18S6. O — —
AST1S. O EENEE 1= = 1TE1. O 18z1. 0 1aATT. 0
Z0O1405. O s1.0 1= = 1095, O 1sa9. O —
540968 0O TS 1 15 = 11=9. 0 1=09. O —
sOe0TE. 0 T2 T 15 = 1595 0 1570, 0O —
S005S. O a0, = 1= = 1100, 0 1097, O 1855, 0
1Ez6a35. O s0. = 1= = 1091, 0 1343, O —
EESTTE. O 51, = 1= 1 1505, O — —
4AG5E51 . 0 az & 15 =) 1599 0 1534 0 1543 0
113z0. 0 EERE 1= 1 1943, 0 — —
163370, O aT. 0 1= = 1470, O 188z, O 1=30. 0
S1EZES. O To. T 1= = 12z, 0 1050, 0 —
4TO0115. 0 BO. S 15 1 10535 0 — —
BzzS10. 0 s1.0 1= 1 1Z7T1.0 — —

Type 5 Radar Waveform_27
Buor=st Pol=e Chirp Humber of
Offcset Width Cas) Width Pulses per (PRT-1 f(us) (PRT-2 (us) (PRT-3 (u=s)
(u=) * = (MH=z ) Burst
250520, 0 S52.0 9 1913. 0 1474. 0 -
514970, 0 Ta. 8 =] 2 1326.0 1234. 0 -
TTET11.0 T B =] 2 1559. 0 1306. 0 -
1042557, 0 T4, 1 9 2 1356.0 1550.0 -
215149. 0 aT. 1 =] 3 1EG61. 0 100z, 0 1635. 0
451462, 0 a0, B8 9 ] 1991.0 16035, 0 1210.0
T44397. 0 93. 9 =] 3 1901, 0 1640. 0 1982. 0
1011472, 0 521 9 1 137T5. 0 - -
185951. 0 Ta. 2 =] 2 1154. 0 14z0.0 -
445509, 0 S6. B =] 3 1664. 0 1645. 0 1993, 0
T13315. 0 T2. 8 9 2 165T. 0 1733, 0 -
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Type 5 Radar Waveform_28

Buar=st Pulse Eyirp Homber of
Off=et Width (us) |Hidth Pulsex per |[PRI-1 f(us) |[FRI-2 (us) [FRI-3 (u=)
(n=) MH=z) Bur=t
1075245, 0 T5. 2 = z 1314.0 1950. 0 -
1859685, 0 5T7.0 = 1 1TET. 0 - -
453031, 0 T1.3 = z 1T1G6.0 1467T.0 -
T49113. 0 T5.4 g z 1886.0 1591.0 -
1035T1T.0 54.49 = 3 1576.0 1104. 0 1476.0
132915. 0 95,1 = 3 1115.0 1415.0 1515.0
423533, 0 B0. & g 1 186120 - -
T14565. 0 55.3 = 1 14720 - -
1003047, 0 53.5 = 3 1Tos.0 1051.0 133z2.0
aT2T1. 0 TS. 8 g z 1923.0 1059. 0 -
Type 5 Radar Waveform_29
Bar=st Pul=e Eyirp Haomber of
Dffset ¥idth (as) Width Fulzex per ([FRI-1 f(us) (PRI-2 (us) (PRI-3 (u=s)
(a=) (MHz) Burst
3ETS15.0 TE. 5 T 19aT.0 1215.0 -
BTTTI34.0 Td. B T z2 1899 .0 1550.0 -
963311.0 B4, T T 1 1011.0 - -
514730 91. 3 T 3 1160.0 1120.0 1435.0
351456.0 §5. 6 T 3 1755.0 1276.0 1215.0
B42TS4. 0 51.0 T 1 15420 - -
93193Z2. 0 T4.T T z 1993, 0 18655. 0 -
25751.0 B4d. & T 2 1545. 0 1549. 0 -
164450 517 T 1 1555. 0 - -
BOS392. 0 949. 49 T 3 1875.0 182T7.0 1236.0
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Radar Type 6 - Radar Statistical Performance

Trail # 1=Detection Trail # 1=Detection
0=No Detection 0=No Detection
0 1 15 1
1 1 16 1
2 1 17 1
3 1 18 1
4 1 19 1
5 1 20 1
6 1 21 1
7 1 22 1
8 1 23 1
9 1 24 1
10 1 25 1
11 1 26 1
12 1 27 1
13 1 28 1
14 1 29 1
Detection Percentage (%) 100%
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Type 6 Radar

Waveform_1
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Type 6 Radar

Waveform_4
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Type 6 Radar

Waveform_7
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Type 6 Radar

Waveform_10
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Type 6 Radar Waveform_12
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6. CONCLUSION

The data collected relate only the item(s) tested and show that the device is in compliance with Part

15E of the FCC Rules.

The End
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Appendix A - Test Setup Photograph

Refer to “ 2012TW0007-Setup Photo” file.
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Appendix B - External Photograph

Refer to “ 2012TWO0007-External Photo” file.
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Appendix C - Internal Photograph

Refer to “ 2012TWO0007-Internal Photo” file.
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